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2. Thetestis of 22 hours duration and consists of 150 questions. Thereis no
negative marking.

3. Use Blue/Black Ball Point Pen only for writing particulars on this page/
marking responses in the Answer Sheet.

4. The CODE for this Booklet is W, Make sure that the CODE printed on
Side-2 of the Answer Sheet s the same as that on this Booklet. Also ensure
that your Test Booklet No. and Answer Sheet No. are the same. In case of
discrepancy, the candidate should immediately report the matter to the
Invigilator for replacement of both the Test Booklet and the Answer Sheet,

5. This Test Booklet has five Parts, I, II, IIl, IV and V, consisting of 150
Objective Type Questions and each carries 1 mark :
Part-l  : Child Development and Pedagogy (Q.Nos. 1-30)
Partdl : Mathematics and Science (Q.Nos. 31-90)
Part-lll : Social Studies/Social Science (Q.Nos. 31-80)
Part-IV : Language-| (English/Hindi) (Q.Nos. 91-120)
Part-V : Language-Il (English/Hindi) (Q.Nos. 121-150)

6. Candidates havetodoquestions 31to 90 EITHER from Part-ll (Mathematics
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7. PartV contains 30 questions for Language-| and Part-V contains 30 questions
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and Hindi language have been given. In case the language/s you have
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English or Hindi, please ask for a Supplement (Language) Test
Booklet of J Code that contains questions on that language. The
languages being answered must tally with the languages opted for
in your Application Form. No change in languages is allowed.

8. Candidates are required to attempt questions in Language-ll
(Part-V) in a language other than the one chosen as Language-l
(Part-IV) from the list of languages.

9. Roughwork should be done only in the space provided in the Test Booklet
forthe same.

10. The answers are to be recorded on the OMR Answer Sheet only. Mark
your responses carefully. No whitener is allowed for changing answers.

11, Incase of any discrepancy in the English and Hindi versions of questions/
answers, English version will be taken as final.
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PART - 1/ ¥ -1 fawad
CHILD DEVELOPMENT AND PEDAGOGY / " st approrTt

ate pplions

Direction : Answer the followeing questions (Q. Nos, 1 f0 30) by seleching the correch ,
’ﬁ' : g gt (W & 1 &30 F I HF fe wm S e 1y diverse groups
1. Which of the tollowing correctly describes ‘culturally responsive eaching £
of students 7 iv “‘lﬂ'“i‘“lhzcd
(1 Intentional (i) Adaptive (iii) Differentiated (iv) (i), (iv)
(1 ). (i) @) ). Gi). i) @) (). @), ). (V) t”m@ g’ 1 ®A A
W%ﬁﬁum#@m%mﬁmﬂﬁﬂﬁ'wwﬁ
wAE?
() gfE=fa (i) STTFfem (i) fawfE (v) W
(1) (i), (iii) (@) G ), (i) @ G0, (), @), () @ o &)

X 3 ifferent
A teacher asks herself - “How can | provide experiences that require students 0 clapsify oo

types of objects in the environment and analyse their classification schemes 7" Which intelligence

is she trving to promote in students ? -

(1)  Inter-personal Intelligence (2) Naturalistic Intelligence

(3) Bodily- Kinesthetics Intelligence (4) Linguistic Intelligence

o e gz S @ e - CH TS Wmﬁmmmﬁﬁﬁﬁm‘rwﬁmﬁﬁﬁqmﬁ
Fegall 3 A T Sl S T & i ey S0 i e @ 2" 7E o 7 R
FET F1 TG A H F 9 FTE 87

(1) strdafa geww (2) wFfeE g
(3) vifts-nfadadt gfgmm (4)  vraé gigmn
Assertion (A) :

Teachers should encourage debates, discussions and collaborations among
students.

i . i g : :

eason (R) : me::dlgz ;:\ri?]l;;z:‘]nf;n is al; -u‘;achve process and engagement in group activities
Choose the correct option.

(1) Both (A) and (R) are true but (R) is not the i

b e i ) is n correct explanation of (A).

83} Both (A) and (R) are false.

Both (A) and (R) are true and (R) is the correct i
i - explanation of (A).

iR (A) : ﬁmﬁmﬁaﬁﬁmﬁam,wmmﬁm:ﬁ;mm}

wWT (R) : 1 39 uF faferg i
- whwen & iR wfee nfafafidi & g sehqof stfirma  smen

Wi fawea 93

(1) (A) 3R (R) 3wt & Sifr (A) 1 (R) w2 =g =@

(2) (A) Hét & AFFA (R) o B )
(3) (A) &R (R) I et §)

(4)  (A) 3 (R) 21 A ¥ sin (A) # (R) TR =TS A R

P-I1 (WO WOV i 2

A 5
ssertion (A) : Schools should function within frameworks which assess the finished product
and learning outcomes.

Reason (R) : Learning is ti : ; i SO a2
Chorss the & npﬁa::\ is tightly sequential and hierarchical. T3 s
o) '

Both (A' and (R) are true but s the expla 1
iy . (R ! i
( ) it : : - ) 15 not correct lanation of (A)

(3) Both (A) and (R) are false——

(4) Both (A) and (R) are true 3nd (R) is the correct explanation of (A).

RmmaT (A): o 51 2 2t Boitr w00 T R W e IR s =i 3 ot W AR
Fa ¥ e

/I (R) : T T Al EEtoE A TeEEa ¥

@ faweg 1) (D

(1) (A) 3 (R) 281 79 % == th) 51 (R) T == T8 w7 X

@) (A) = & A= (R) T EL

(3) (A) 3w (r) 2H =

(4)  (A) 3 (R) 2 = 2 2 (A) F (R) TR =wEn =R

Sunita, a 12 year old girl, shows exceptional musical ability. Both her parents are accomplished
singers, and they send her for chﬁlm voice training after school. Her capabilities are most likely
to be the result of an interaction.t een

(1) nutrition and discipline

(2) Theredity and environmen®

(3) gender identity and genetie-make-up

(4) growth and maturation

T, e 12 @ta wrga, fad i s T e -, 21 @ Frgen T €, 3t A g
= S FEE 3 e F3 S I W wa § s E @mﬂwmmﬂ%ﬁm
FRE ¥ a:fem = o= 2 O

(1) O R e

(2) et R e

(3) ¥ vEEH HAES HEA

(0 ofs iR sfrm A

S

A key commonality in Piaget are ygotsky’'s theories is -
(1) Focus on stage-like progression in children’s development.
(2) Involvement and engagenfeqgt of children in their own learning,.
(3) The role of culturein the gogpitive processes.

(4) Their views of relatio etween language and thought.
faard 3iR AR ¥ fagidl 3 T S

) ﬁ#mﬁm—mmmmﬁn

(2) =i ¥ T = foan § Horewm 3R qEE )

(3) TIAEH wfmall # depfa F1 fEEn

(4) s 3 faram ¥ e wadi & A 3
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9.

7. Which of the following is a correctly matched pair 7

res performance to that of prers

references assessment : compa
e and after the class

(1) Norm -
dents can Jdo befor

(2)) Formative assessment : determining what the stu

®) -

(3) Summative assessment : involves paper - pencil
written behaviours .

(4)  Criterion - referenced assessment : irig_‘_Tﬁ\des mastery of specific topics

frreferfan § @ H-a a8 g TEED
(1) - e e - W ¥ Fee e ¢

() wm:wmmmﬁjmﬁmmmﬁwmmi
(3) Wwﬁrﬁﬁﬂﬂ—ﬂﬁavﬂw}%m-mﬁt—ﬁﬁamﬁ%ﬁwmwﬁﬂﬁ

4) m—mwﬁ:mﬁwﬂaﬁmwﬁa%

8.  Sensitive periods are those time periods during which certain ____ are especially important
for course of ‘normal’ development.
(ZF-anironmental factors

(4ggeneﬁc predispositions
fairy w7 § ‘wma’ faw F o

(1)  ethnic factors
(3) hereditary factors
Tagvite aTafy oF wog Efy et ¥ fous BRE $9

ey gt ) N
(1) wrER (2;)-3mhwﬁ11m
(3) ST FEH (4y—Frge FRF

According to Lev Vygotsky what is the relationship between language and thought ?

(1) Thought shapes language
(2) Language and thought are independent of each other

(3) Language and thought are complex interrelated processes of development
(4) Language does not shape thought B

£

m%mwmﬁaﬁﬁaﬂa&iﬁma?

(1) fa=m v % emR 2 &) s
@ moRPER TR A
hS,

@) w3 e famr #t fee fafvia atwgd €
(4) I faER *1 3R 7€ 2t €1 e

LD !

Ny
Ny

tests as well as detailed accounts of non-

0. Inclusive classrooms :
(1) Is an education
o A by ;:prpfd‘(w__" am o'ffvrl'd to cater to the needs of ‘special children’.
@  Aimtore ‘1 erentiated instructions as per individual differences.

7 remove all kinds of differences a the
(4) Recognize that i i s = rmm—
d every child will learn at the qa,;ﬁi-' ate and at the same time,
Tt s ~f .
(1) ﬂmﬁ'ﬂmﬁwwﬁthﬂwﬁmmhfa'mmh
(@) srem-sem fusmsit % saw frafe B fo M
(@) == F A w T A e o = = G
(4) = TETE =ifEn s @ 3= o A o T i meET H e
& '"‘_

11.  In progressive education children are perceived as :
(1) Compliant and capable of only consuming knowledge
(2) Knowledgeable and meaning-makers
(3) Vulnerable and in need of protection
(4) Innocent and dependent
wrifesire foen & a=af +1 form v 2 I 22
(1) o @ Fam A FInm FA E I~

(2) s 3l o Ft = F A g’
@) Fwir R g #i e A &
(4) v i anfEa S

N

Assertion (A) : Teachers should give lot of oppoftynities to children for experimentation and
discuss examples and non-examples.,

A constructive way of dealing with. misconceptions in childr
counter examples. —

Choose the correct option.

(1) Both (A) and (R) are true but (R) is not the correct exp
(2) (A) is true but (R) is false.

(3) Both (A) and (R) are false.

Both (A) and (R) are true and (R) is the correct expl

12.
en is to provide

Reason (R) :
lanation of (A).

anation of (A).

éﬁﬂmaﬂ?mmﬂx—mﬁm

4
;tf)immm: forert = wredl ) A ¥ fom wgd Wi s

<=t wE e O
FROT (R) : aﬁimwﬁ%ﬁnﬁmwmﬁwﬁammmh
o fashed 4 | —
1) (A)am(mtﬁfuﬂiﬂfaﬂmﬁmwﬁmm%u
) (A)wtaﬁr-r(u)m%l N

o

3) (A)am(n)zﬁfm?t _
@) (A)aﬁt{n)ﬁmiammaﬂ(muﬂmgm i3]
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13.

14.

Change and stability in emotions, Pt’rsonaiit_\' ;
psychogocial develop

1)
3

1)
(3)

Jean Piaget's th of itive development im
ge eory of cogni

1)
(2)
(3
(4)

1)
)
®3)
4)

ether constitute :

and social relationships 08
ment

e

(4) Persenality development

Emotional development

Cognitive development ) A &
s, =R i wEf wa § e mﬁ.ﬁ@?ﬂm‘“ i
AT famrE (2) AT
T fa (@) =
plicates that :

Concepts should be taught in a sequence of complex to simple. _
ge in mind.

Curriculum should be designed keeping children’s age-group and sta o
d of the process of thinking,.

Focus of teaching should be the outcome o@ activity instea
punishments.

Behaviour should be conditioned using rewards and

mm%dmﬁmwmﬂmtﬁﬁ‘

FauRSH F Wifed | ' ¥ w8 § faam INCafen |

UISTHA I T & SAG-THE F = H mﬁmﬁmﬁmmml
foreror = = fafafy ¥ gftom WA Sifge AEdEE F 9 )
=ER F g2 ol quil & Wan § srgiea fE s =t

Which method did Lawrence Kohlberg used to study moral development of children ?

1)
@
3
(4)

m
@
()
@)

Posing moral dilemmas to children and analyzing responses
‘e

Conducting observations of children during y
e <

Y

Experimental method
Quantitative research approach

Bﬁam\mﬂﬁiﬁt#ﬁmmaﬂm%ﬁmwﬁmwmm?

T & T Ao gfad T s SRRl wEEE e
A9 ¥ A a4 7 SAaEET FE

e fafy

HrAE Wy w1 fafy

P-IL [BURIEIN R 6

16. According to Jean Piaget how are children different from adults ?
(1)  Adults are much more knowledgeable than children.
(2)  Children’s thinking is qualitatively different from that of adults.
(3) Children's thinking is quantitatively different from that of adults.
(4) Children are dependent on adults while adults are independent.
S ¥ srEn 7=3 7= @ fmm v = 2
(1) == N gon § o agn v et Ea ¥
(2) =N G T Y e e =
(3) == F v e w Y g | i

@) = TaER R 8 e T = 2

17. Students struggling with dyslexia can be taught to read :

(1) By providing higher grade level reading texts.

)
(3) Through association method of conditioning.

By giving long and complex passages.

(4) Through systematic phonological training.
m&mﬂﬁmﬁwﬁiﬂqummmm% :
8] 3% g T TS Td TEE FH

(2) R et wfem T SR
(@) FIFE W srgavA fafu % wom 1

@) safer AT YA % W A

P-IL (RNAMEINNENE




rs and adapt

Shri : shces among learne
18. Assertion (A) : Teachers should respect the indwldualdthfl:n nces
their teaching to cater to needs of all students.
actons among stuc

Collaborations, group works and inte
while teaching a class of diverse learners.

jents should be avoided

Reason (R) :

Choose the correct option. ) f (A)
(1)  Both (A) and (R) are true but (R) is not the correct explanation &- 7

(2)  (A) is true but (R) is false.

(3) Both (A) and (R) are false.
Both (A} and (R) are true and (R) is the correct explan

ation of (A).
wifirn afre andt foenfeai =

(4)

e (A) :  forwr %) ool & st safwa fasi 1 T S
Wﬁ#mmmﬁmﬁﬁammﬁm

e @): o ) s g 3 o #) v @, I 9w, T i
Fra=id | S5 e |

wd fawer 941

(1) (A) 3R (R) 2 T ¥ SAfe (A) 1 (R) T8 =EN T T

(2) (A) 98 & Sif (R) Terd &)

(3) (A) 3 (R) <Y e &)

(4) (A) 3 (R) 3 wet ¥ it (A) 1 (R) WEt =mem 4 €

Rama is a teacher who is implementing Vygotsky's theory in her classroom and she assigns her

students to work in groups to complete a challenging task. During the task, one student struggles
to :nde;stand a key concept. What would be the most effective way for Rama to help this
student - ’

(1) Encourage the student to try to solve the problem on her own.
(2)  Assign a different task to the student that is better suited to her abilities.
Work through the problem with the student and providing guidance and feedback as needed

)
while involving other group members.
(4)  Provide the student with the answer to the problem so the group can move on.

mwm?ﬁW#mﬁMWﬂmmmtwﬂmﬁMWﬁwmﬁ
tﬁq‘mmﬁaﬂﬂqﬁﬁmmﬁ%ﬁqﬁwmﬁl F ¥ A, TF 13 U WEe GHew
HUH & fere Hed e &1 TN F foTU 59 BT F WeT F F WAQ W9 a1 3790 8 2

BT 1 THE F @ T A F WAE FH F A0 vearteg w530

I N T e F W S I A F sggd A

BTY & WY TEE W HW 3R 95 F 5 9] B e w9 HETIHATER Hee
ufegfe yem &{) , a "
1) B F) WEE F IW GGH H A GIE A GG G |

()
()
(3

T | 8

20.

21.

Which of the ¢ . y
classroom ? ollowing hinders the participation of students with visual impairment in

(1) printed textbooks and notes”

(2) raised-line drawinga and maps

(3) tactile models of graphic materials

(4)  electronically formatted lecture transcriptions

AR o i frenfi 2 e smivar 20 3 A wE 42
(1) i T o e
@) 30 g Y o s e
(3) I T ¥ we
(4) TR w1 st e s

How does setting mastery goals impact a student’s motivation and views of ability ?
(1) It often implies enhanced intrinsic motivation and belief in the incremental view of ability.

(2) . It often implies enhanced extrinsic motivation and belief in the entity view of ability.
(3) * It often implies enhanced extrinsic motivation and belief in the incremental view of ability.
(4) Ttoften implies enhanced intrinsic motivation and belief in the entity view of ability.

T wfe T ¥ e P e & o =) s s A 3 =i E farar R w o ¥
(1) T SRR A ¥ gt g § wd g st sfion 3 favam i@ ¥

(2) ﬂimﬁm#fquﬁmﬁﬁaaﬁgémﬂmmm@ﬂﬁmtl

3) wmmaﬁmmﬁa@gmmmmaﬁmtn

(4) I 3T Ara % fer gfesm =@ g sttt st i favare = < §)

22.  You are a teacher who wants to help your students develop metacognitive skills. Which of |
following strategies is most likely to foster this type of thinking ?
(1) Encouraging students to reflect on their own learning and thinking processes.
(2) Providing students with summarised notes for assignments.
(3) Assigning homework that requires memorization and recall.
feedback on their performance.

4' Gl'i' n Studenm nlﬂlks “ISlEEd of uahﬂuve

Wiﬁaﬁmﬁﬂw@mm
il %ﬁaﬂﬁﬁmiﬁﬁu@aﬁﬁﬁmt?

B = oA 78 TR
IR A mm#wmwﬁmmwm%fmmfmm‘

1)

@) ferenfordi = T Frd ¥ forg it e A

@) wmmmmmmmmaﬁmwm
9
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23,

24.

P-1T

In Asian cultur
‘ﬁm\umgr‘d and s

Emotions are subjeciive

Assertion (A) :
Reason (R) : and
Choose the correct option. anation of (A):
(1) Both (A) and (R) are true but (R) 15
(2) (A) is true but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the correct

s o
AAfime (A) : Ma‘gﬁf&!ﬂsﬂmﬂw
oy e 3 o gt 9 e v <

e s & sk S 3w T @

not the correct expl

forvret E1
T (R) :
e fawes 1|

(1) (A) she R) 2T T & e (4) # (R) W) s 7 T B
(2) (A) TE & &fFA (R) 7o &)

(3) (A) 3R (R) S TEa £

(4) (A) 3T (R) I WA E 3 (A) F (R) FE =IO FA LN

Feedback to the students in a classroom is most effective when :
(1) It occurs during as well as after the learning activity.
(2) It focuses on what the child cannot do rather than what they can do.
(3) It centres around tests and exams at the end of the year.
(4) It assigns comparative ranks to the students.
ol & o Fan § wfafirn g sifus ywiEt 2t & 54
= die it nfafafy & o siv avem o g d
e
T A R A Hfd e & o w0 weha a9 59 6 9 w9 AR B

7% Y % 3ia ¥ witaw it vhen ™ Fza &
TE BT Y O AV e H

1)
(2
@)
(4)

Constructivist teaching leads to learning by students

(1) meaningless (2) rote (3) r i
eceptive (4) disco
Wﬁmﬁﬂﬂﬁaﬁ____mﬁnmaﬂaﬁtﬁmtl -
(1) e () (3) v @) @e-smafa
LT 10
1 J’!

26.

m

27.

Which of the following question promotes analytical thinking ?

How many States are there in india 2

What is the total population of India ?

(3)  What are the various causes of increase of population in India ?
(4) The capital city of India is =20

11 & A P =0 Prvdrmmees e 5 e 2w 20

(2)

(1) A ¥ fF g =
(@) R T o e h
(3) A e o ¥ fafrs wovm £

Euch e B S

(4)

—

Which learning strategy involves children teaching others what they have learned ?
(1) Rote learning (2) Expository teaching

(3) Reciprocal teaching (4) Conditioned learning
mmﬁmﬁﬁm@ﬁﬂmmtﬁﬁmt?

52_) =TT e

(1) R HrE
(3) et fwm I L]

el ”

=g
Which of the following statement is cQuect about ‘ Autism’ ?

28.
Autism is a neuro-developmentitdisorder.

M
(2) Autism is caused solely by env@\ﬂntal factors.
(3) Autism can be cured and improves with age.
(4) Al autistic people have at least one exceptional skill.

e % @ - o e R A R
1) m@aﬁaﬂnﬁmﬁ!ﬁ‘h

? mmmm*&&ﬁ:mtx

3) mmmmmmtﬂ%mwﬁwm%t
@) -3 T i aher b
RV T Sl



xpectations and follow: /_\
29. Assertion (A) : During adolescence the pressures to conform to gender €

conventions of fenuhl?—r}}' or masculinity increases. ("""d'.d;;e:;“w to do questioys 3 tol;':nnng W
) : ; g Part - ocial Stud; R Part - Il (Mathematics and Science) OR from
Reason (R) :  Gender and gende:;fql:es are determined biologically. aheriar F mv 31 ‘;’/ Social Science), <

Choose the correct option. e

(1) Both (A) and (R) are true but ({jSs not the correct explanation of (A). PART - l?""fm n

(2)  (A)is true but (R) is false. (T ; Divection:s Ansay t:;::;“‘ﬂ_cs AND $ciENCE / Tifow 3 Rram=
(3) Both (A) and (R) are false. Frde : ¥ F T %f:g“;;y;:; mf;.;"?::tg"ﬁo';t * e
. 1
(4) Both (A) and (R) are true and (R) is the correct explanation of (A). 31. E\Zlf;g f;:l:l':;:\e maral;s :):tamedh:g a student in Mathematics, Science, Social Science, S(H;rd;ja:l‘\de
i pectively represen £ | angles 90°, 80°, 65°, 75° and 50°.
SR (A) :  Fvirn 3 2 e sans ¥ sEE9 w W G F T w1 w5 total marks obtained by the snadents were 40, cn what 5 e difference of the marks dblained
fer zame =g s &1 by him/her in Mathematics and English ?
I PR PR (1) S0 (2) 40 (3) 30 (4 60
: v o T = 3, Foret foramed g i, ferq, e fera, e iR st ¥ S St W FE: 90°, 80°,
P f’;ﬁﬁ;:‘wﬂzmmﬂmﬂfﬂdﬁmﬁaﬁamtl afz 39 farenell G0 W F 3 540
B ' . 4l i ¥ W st w1 sy 2
) (A}W{Rjﬁﬁiﬁﬁﬁm)?ﬂnﬂﬁmﬂmtl (1) 50 @) 40 oy 30 @ 60
(2 AwEEdFIR) TG ) ¥
) {A}W{R}ﬁwff N 32. The value of 52x3+4+ J841 +7x3+5-32:¥x12 is :
= (1) 5 (2 15 21 4 0
<~
(4) (A) 3T (R) 3T Wt & W(A)@Hﬁmmh 52x3+4+ JHIT +7x3+5-32+8x12 7 RE :
o) M s @ 15 o = w 8
30. In order to develop critical thinking an : .
n o e.r ) develop critical thinking among students a teacher should : 33.  The number of faces (F), edges (E) and vertices (V)of a polyhedron are 7,15 and x, respectwaly.
(1)  discourage the students from asking doubts and questions. Then, the value of (2F +3E—4x) is :
20
(2) gi tions that i i . (1 19 (2 18 (@) 17 *)
give questions that involve inferences and explanations. fapeit % % werwl (F), Fd (E) o o (v) ) T HA: 7,15 3R x €)1 @, 2F +3E-4x)
(3)  avoid questions which need inference and analysis. FHAE |
(4)  ask only those questions which carry single answers. 1 19 (2) 18 3 17 4 20
forenfefdl & weTeirereT feie ) fafed ot & forg, v foes @ - SPACE FOR ROUGH WORK / 7% wrd & fg e
- T"I
(1) faefeidi %1 37% 52 sl wae Y@  forg wdenfen o e : o
) N o b !
(2) TR T & wfey o freed e wfe o9 £ A C‘;\f
k)] Qﬂm#mmfwﬁﬁ#ﬁgaﬂIMaﬁmmtl onries” =
. . r"h
(4) mﬁﬁnmmmﬁqﬁﬁfwﬁmm S
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jave NOT been includeq I}

e fOPICS A
. h of the follo® ing tF |

34. At upper primary stage, as per NCERT whic
under number system ? {nd Powers
(1)  Fractions ) Exponemsand q
4) Complex \uﬂ"b‘”
- 5 7 #A-9 TE Aoy

(3)

Square roots and cube roots

NCERT & 78R, 3= mafas &l 7, mwrvﬁ*m :

fag Ty &7
2) Wﬁ?fﬁr

(1)
3)

(4) ﬂf‘qﬁﬁ'&?ﬁ'

arfge i gge

then the value¢ of (p+a) 15

35. If (2x+5y)2—5(2x +5y) — 14 = (2x + 5y + p)(2x +5Y +4) W 7
(1 -14 2 9 (¢ -3 .
FHAAE
afz (2x +5y)2 - 5(2x +5y) — 14 = (20 + 5y +p)(2x + 5y +4) ?,.i" (P9 i
(1 -14 @ 9 3 —5‘;"’ @
36. According to National Curriculum Framework 2()(15("'1‘Jth of the following process is least
important in mathematics ? ,r\_I..
(1)  Understanding when and how a mathematical technisue is (o be used
(2) Finding short-cuts in mathematics. N
(3) Generalizing a mathematical formula Ch)
(4) Solving day to day problems.
mwmmstmmﬁmﬂﬂmtﬁmmﬁmﬂmt?
(1)  T® quwN f nfordta qErn & I9E Fa it FR fFm - Fw. 2
(2) Tifor & e @ |
(3) fordta g3 @ WA -
=
() fz7 vfafes &1 swensl &1 q\E $40) o™
SPACE FOR ROUGH WORK / T @W & [0 Wig
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1
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39.  Which of the following statement is least appropriate regarding the proofs in mathematics ?

(1)

It helps to reveal the connections and provide insights into the underlying structure of
mathematics.

2
3
)

It can help the students to validate their own reasoning.

Proofs are built on intuitive knowledge and not reasoning.
It explains why a particular mathematical result must be true.

Freafafas & @ # @1 wo afom ¥ syufadl gy § 999 #9399 €7

(1) 7 Fasl FT IR F0) F wag Fw & ok nfom F siafifen g F i w@H FA
(2) e faaf¥ai #r 3797 @F ¥ aF 5 o= F § 7 F GFA L

(3) SwdfwEl 1 fmfo siadvita 7= W @ & 11 f @b w0
(4) % =ETE @ # o fad afordty sftom g &6 @ =ifew)

40. Which of the following is NOT an indicator of creativity in Mathematics ?

1)

(2) Students use multiple and alternate problem solving strategies.

Students are able to think flexibly.

(3) Students can pose questions.
(4) Students use convergent thinking in different contexts.

Frafafas § @ @1 7o § TEcaSd 1 Hhas Td 82

(1) feeneff F=ieht | & e &)
(2) faemedt fafay sir defeas Toem govm 1 wEHfTE #1399 F@ €
(3) faendf woa wega F §Fa T
(4) faeneff fafi= el & syt faem &1 swm # &1
SPACE FOR ROUGH WORK / & #14 ¥ e wrig Ly
¢P- Q4o0o &)5/ o.g 2yepo OY 25/ o{ [ X24, oo s
! 110
' 25 “tooo0 a8 <
$f: Auoco ﬁ;—’(iqm ° Coc
1 6ooo
30000
2 3 ooco 3"
disceud = 19/ ", BMM'E 5‘_"’.: :g _;fo
lnmnEsin : 16 23 ¢ 2 i
NN Pegpat - 23 .000- 5, 26 . w1 J

41.

42. ,M is a point on side =

 sxadler buys 12 fang gor g, 97142310 l
fans by giving 109% 4s 000. He mark .
#3000 dlltommh TKs each fan at 25% above the ¢

ost price. 1f he sells all
@ 3

marked price, then his overall profit (in ) is :
k (3) 3500 4y 2700

@ 3200

ABOfam

respectivel angle ABC such.that AM=BM=CM. If A
(np Bs\geyxand W'E‘;nﬂtevalue of (3x +25%) igegual to : - SRS AmLDm
. 10{]0 3 -lnsr. 4 709
fereht foyw ABC B s O]
: ;“‘E'Asmmwﬁgmmm%ﬁﬁAMﬂM:cm%x ofz ®m A stRp
3 v ’ﬁ(h”s“]'*ﬂm"rmt;
(1) 85 (2) 100° @) Gis @ 70°
& Two pa;a]l;; umsmmmme‘ibﬁfaﬁansvmaimd the two interior angles so formed on the
same side of the transversal are (2x+15%) and (3x - 20°). Then, the value of (4x+6°) is:
(1} 150° {2} 148° (3) 146° ) 154°
T Tl T A i st @ sz wd § aw vw vew Tk T & T @ S A st
(2x+15) 3R (3x-207) ¥1 79, x+6) MARE )
(1) 150° (2) 148 3) M8 @) 158
—3
44. Which of the following is NOT true ? I
(1) Operations of multiplication can be done on{mathematical expressions
(2) The expression (x*+10x +25) cannot be simgliffed further
(3) The value of the variable in an equation which satisfy the equation is called a solution of the
‘{9 equation ; -
o & (4 3+4x5 is not a mathematical expression
Y F frfafaa & | 17 W T @ 82
S g2 1) ot e o st ®
SN @) aiﬂ(x2+10:+25)ﬁaﬂtaﬁl$m=rﬁmmm% i
(L () e R A g T, S A S
55”’?,, (4), 3+4%5 w TR s T ¢ T -
; :uAa/F “IS. 5. SPACE FOR ROUGH WORK /T% ‘wvfﬁﬂgt v ﬂ\;\_ 1
p ,"/"' s 1'140- 2 "'?'.":w—“q%;\“ 30 ta ~ a0 haleadi B
s 4 . = A% ARy eeex?y o 2
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W 0z s d\c Yre 4 . T TR =
v 2 : T [ N T L) !
r 37.&1 ot s 3-_1\.)'@50’ uw N P
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45. Dis a point on side AB of a AABC such that CD is the bisector of ZACB. If ZA=50° and ZB=7p¢

then £ADC is equal to : 48 Marks obtai
: g ned b)r Some
students of a

The difference of the mean and the class are 36, 37, 31, 42, 23, 38,17, 18, 35, 25, 29 and 35.
T

(1) 50° (2) 70° (3) 100° (4) 30°
ange of the data is ;
WWABCﬁamaa@waﬁgsnmaﬁco,aﬁmacsmwﬁ;mtu a2 @ 55 & t:“‘
4A=5D‘SRIAB=7U°%.#!%¢QCW%: e T % 59 Pt g e D e
F - _a; “36; 37,3, QZ,NG’F 17,18, 35, 25, 29 ﬂflfﬁ ‘l
(1 so° 2 God @) 100° @) 30° SIS T 3 o sie d -J
. (. 38 2 55 sy
i d (3) 6.0 (4) 45
46. Which of the following does{ﬂ imply the meaning of assessment ? \ I>)
) -b =il o
() Ehelpe o labd the studerts 3 b c)b _r Bed equal to : =
(2) It helps to diagnose individual differences. (1) c—a -
. @ —de @ 2 @) b-c
(3) It is a procedure to gather information of student’s performance. 2
(ﬂ‘b‘l'c) ——(a._b_ql
(4) It is evaluation. b-a Tt
frefafad & § 941 ArHer & s 1 T8 T () c=a 2 4 @) 2c @) b-c
Bitind
(o]
(1) 7% faenfeai @) Twifea G E e & & ;
o 50. 1f x is the least number which must be added to 955 to ¢ it a perfect square, then value of 3x +2
(2) g e fu=ransll 1&/F F7 § Fera i g , isequalto: r
W — P o (1) 14 @ 1 ® 5p0 @ 20
o ' " l A b ‘lﬁ955ﬁﬁzﬁﬂﬁmxiﬁ?ﬁﬂqmtiﬁmw@aﬂwt&t,ﬁunmmmt:
(1) 14 2 1 (3 5 '5 (4) 20

drilateral ABCD is 120 cm. 1f BC=48 cm, CD=17 cm, AD=40 cm and

51. Perimeter of a qua
area of quadrilateral ABCD (in cm?) is

47. How many natural numbers between 1 and 500 are divisible by each of the numbers 3, 5 and 7 ? £A=£B=90", then
B 4 2 5 @) 6 @ 3 (1) 690 @ 720 (3) 750 (@) 660
— = = D=40 cm @ ZA=/B=%"
1 3i 500 ¥ W ¥ Frat spesEd € S weme 3,5 3R 7 # | wew & v §2 et it ABCD 1 9 120 cm &1 7% BC =48 gy £ =17 . AD =06
-— ’g_ihagﬁﬂABCDﬂm(anﬁ)t: -
(1 4 2 &) (3) 6 @) 3 Ay 690 @) 720 @) 750 (4) 660
SPACE r:t):l;i ROUGH WORK/ T% wrd : forq wg SPACE FOR ROUGH WORK ;ﬁﬂ F o W & 1o
:--_ P .—;;‘ . 50 . . _ 11 \ >
F\. 'p; v v e a {I?Ba 3043t 431 411_*}31‘_\1”_"2‘ *'_n ﬂq(ﬁ__ \3.:‘ i
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¢ oA +Y. 2 L uy i ok
O pp» i\w g b /&f‘ 2 ' % & e . 32 0
L2 « 3) ] f % " i Y,
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: is 30 cm, then
52. Area of aright triangle is 240 cm? If its one side other than the hypotenuse 15 P
¢ (in cm) of the triangle is :

(1) 84 (2) 92 (3)

100 @) 80
ot waaRtor st 1 S9%6 240 cm? B #ﬁﬂ%aﬁlﬁﬁmﬂﬂ@gmMCm%.ﬁwﬁ“'
Wﬁm(cm ﬂ}% L_‘_'-_:-
(@) & 2 92 (3) 300 (4) 80
N

53. The domain of learning that deals with attitudes ﬂ,,valuﬁ is known as :
(1) Cognitive domain (2) AffeEﬁj;e domain

4) Knowiedge domain

Aferms %1 98 & N foF =aER o gl & W Hatud @ 99

(3) Psychomotor domain

55.

The height and bage radius )

radius becomes half ang he;:}: right circular cylinder are 9 ¢cm and 6 cm respectively. If the base
volume of the cylinder 7 Increases by 3 cm, then which of the following describes the new
(1

amwﬁ?’cmﬁ'ﬂfﬁ?ﬁﬂma

T - 78 R & U A F =men | €2
(1) T ST T S e )

(2) TN S T A ¥ o B
(3) WW%WWW.&@;,W‘
(4) T ST A ST T T

5 3 ,
Arun is three years older than Varun. Eight years ago, - th of Arun's age exceeded  thof Varun's

age by 6 years. If the present age of Varun is 1 years, then the value of x can be determined by
solving the equation :

3 5 -
1) %{x—s)—%(x—5}=6 .,,,\i{z) g(x+5]-——6(x—8)—6
3x+3)- 2(x-8=6 _.1;(4] Sx-5)- 2(x-8)=6
@) 3 6 N 5

5 5 4
e, w @ A € TR mﬂ‘i% IR i G H —ﬁatwﬁ I F gmﬂsaimm
uﬁwﬁuﬁmmxaﬁtm:@ﬂﬁnmﬂﬁm%mami:

4] By s
) E(::—8]—-;—(::—5]=6 2) §(x+5)—z(1 8)=6
6
5 B Bt
o) E(x+3)-—-56(r-8)=6 @ Zx-H-3E-9
i 5

F w9 § A S R
56.
(1) HIFAREE &9 (2) vETHS &
(3) TA-TAEE 89 4) AL
i
CY)
C\é 3 3 8
54. The sum of the largest and smallest fractions amoﬂgf— 2—, —and 2— is
P o7 58 15
37 7 [~ag 9
M 25 2 2% G Py 4) 23
gt g zg, g 3R 2% A gl ¢ 3l g B fel 1 A E
37 7 39 9
M 25 @ 23 @) 230 @ 235
.- SPACE FOR ROUGH WORK '{?m%f}mmg 43012072
Area = Mo > : o ope e
l t L ';_r .‘f I~ = 2Vo
A e . J:!::t-
% N e
Al TTARACT o J
v - 240 s
Pf‘"';“(3‘:"1_*{"“'j b [ *
v ’)+3°:'Lu0 ,J'i'—é
x> 2o -
[ TIT I TITIn |
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eometrical thinking as py ;
58.

57. Arrange the following statements according to ascending levels of g
Van-Hiele’s theory of geometrical learning.

(a) Identification of properties of geometrical shapes

(b)
(<)

Classification of different shapes
Finding relationship between the properﬁeﬁni.geomerrical shapes

Identification of geometrical shapes as them

=r

3
%) (d)@ (®), ()

(3) (@) (9 k) (d @) (@, @) ()@
méﬁ%mm%mtmwm&mﬁmm%mmﬂﬁm

Hifeq

(d)
Choose the correct option :

1) (@), (®) @) ()

(a) wEIfEErg sTfadl & Toi =t TEaH (e
—
(b) fafu= sl @ affa (4P

N
(0 afedts s & o % @ wan dem
—
) mrﬁaﬂwawﬁ'&fﬁ,ﬂma‘tammﬁw%)?‘

Hﬂﬁmq—’f

(1) (@), (), () () 2) (@) (). (b). (a)
(3) (@) (c) () (d) 4)  (a)b) (). (d)
SPACE FOR ROUGH WORKA/I® &1d & feru smg

971423

I (NN

A sum invested at 109 Pa.for2ye
5 ars

becomes ? 3,267, when the interest is compounded annually.
\

What will be the simpje ;
ple interest on the same sum at the same rate in 215 years ?

(m

10

@ e (3) 2700 (4) T625

o, affe 7T o
mﬂﬁwmzuﬁﬂzam?ﬁmtmmaﬁﬁmwm =@

ofin o = 1
L d Hﬂzzﬂﬂﬁrmmmmm?g
)
(1), 650 @ zers @) @bo 4) 2625
.q-
e i

59.

60.

PQRS is a parallelogram whose dia , -
i X gonals PR73Ad QS intersect at a point O such that
OP = (x+7) cm, OQ=(x+y) cm, OR=20 cm and O5=16 cm. Then, value of (7y+5) (in cm) is :

(1 23 @ 26 (3) 28 @ 21

PQRS Teh WHiat =g &, fords farami PR 3i Qs wrem fifg O w wivede % €1 AR OP=(x+7) cm,
OQ=(x+y) cm, OR=20 cm TNOS=16cm &, & (7y+35) F (cm H) TA X :
O

(3) 28 @ 21
QP
N

The ratio of two numbers is 3 : 7 and their LCM .;& Then, sum of the LCM and HCF of these

1 23 @ 26

numbers is : .
(1) 300 (2) 600 ®) (O (4 30
2 et i U 3 7 ¥ A9 T LCM =630 ¥1 79, T Gemsit % LCM 3IRHCF wAMY
(1) 300 (2) 600 (3) 660 @ 30
SPACE FOR ROUGH WORK ;.3 = & o wE
—
(o P
N
“d.
-
P~
»
23
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e niost appropriate options_
o

the '

T olecting ﬁf’m
Direction : Answer the following questons by I’tm’ qugF @Efq—_—-—
Fdor:  ffaran v % 3w 23 % R AE =

61. Read the statements given below and choose th -

Assertion (A) : The filament of an incandescent 1‘11.“" i n-]lmh
Reason (R) : Tungsten has low resistance .?..nd high n;‘ | H:‘n e
(1) Both (A) and (R) are true but (R) is nobﬁ\’\F“'l e
(2) (A) is true and (R) is false. T

R) are false. N

((z; ::i ::: :: :R: are true and (R) is m;r_\gié explanation of (A).
Freaferfam ol 1 afgu s W S 77 T
e (A):  TF TR Fe9 F 9Ad (ﬂ"@)w““m%'
& R) : drd a foret il T = T A €
(1) (A) 3R (R) 2 W& & T (R), (A) F1 W@ =0 T

(2) (A) 58 ¥ 3l (R) e #1

correct options
o -
ade up of tungsten.
E

pl yint.

(3) (A) 3 (R) I Tem F Eﬁ
(4) (A) 3R (R) M w& ¥ 70 (R), (A) FT TEL=EN 2
I
62. (A) Metal oxides are basic in nature. e
(B) Air expands on heating, . Y

(C) Lime water turns milky on passing carfondioxide.
(D) Sodium hydroxide and hydrochloric acid neutralise each other.
If observation is represented by O and inference by I, which of the follow ing statements is ¢

(1) O-BGl-AD () O-C;1-A,B,D
(3) O-AB;1-BC (4) O-CD;I-AB
(A) wg-sf=Ee Y § wrwE €9 ¥ :‘-E;
(B) g ™ & W et ¥ -5

© wmm(mmmw@mmmama.
(D) mm@mwmﬁﬂmmm.

mmﬁomﬁmﬂwmm@wmﬁw&mﬁmmwwt?

(1) O-BGlI-AD (2 O-C1-A,BD
(3) O-A,B:1-B,C (4) O-C.D;1-A B
P-I1 [EERERNN 24

e ——

Which of the follm.,hg
(1)  Two objects

(2) Conduction

(3)  All materials do not afjow heat to flow lt‘;psgh them in same way.
o ’ .
(4)  Conduction is faster in solids than liquidg.™

ﬁnﬂafuaﬁﬁmmmmtmanﬁﬂwt?

M m*‘““*fﬂww@mmw-&qﬂmml =
(@) e 3 vt B H O i
() E e (A S o @ T S e 3w s R B b
(4) % N T B e A e v B 2 at

1
X ]

statement is not trye regarding conduction of heat ?
should be in contact with each other for heat flow.
does not take place in gases.

The atomic number of A is 13 and the atomic.swmber of B is 17. The chemical formula of the
compound formed from A and B could be : -

(1) AB, (2 AB, @f AB (4) AsB
A 1 Y- 13 ¥ e B 1 S wmim 1780 A o B & Frfidn v w1 et @ wwa d
(1) AB, 2) AB, @Y AB @ A8

)

l\\

Discussion on socio-scientific issues in class helpsin :
(a) developing argumentative skills in learners
(b) developing multiple perspectives on an issue
(c) encouraging citizen science activities
(d) appreciating the role of society in development of science

(1) (a), (b) and (o) @) ([©and (@)
(3) (). (c) and (d) (4) g d ()
wﬁwqﬁm—iaﬁmmﬂﬁqﬁwﬁmgdﬁt :

(a) mmmmm::mmﬁ
(b) mmmw@“‘“m*‘”l‘:
() TR P vk el 1 3 e 2
(d) o 3 forre f T @ v & e R F A

1) (a), (b) 3R () @ () R (d)
3) (b, () A (d) @ ) M ()
25
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66. Two sperms of a man fuse with two eggs of a womart T

(1) fraternal (2) may i identical Of fraternal
(3)  always conjoint (4) identical

o % 2 gy o Q) e (at) F e e € jﬂ_ﬁwﬁq@.ﬂmﬁ’
@ weig ) “"W v € T
(@) w=Egw @) qqsﬁ

67. A class VII teacher plans to identify alternate coré{ tions of students i the topic “ A

plants and animals’. Which of the following 9915( B ategies is best suited for this purpose ?

(1) Portfolio, group discussion, diagnostic qunsﬁ.onﬂairf
(2) Diagnostic questionnaire, interview, drawings
(3) Project, checklist, drawings

(4) Drawings, checklist, interview

4@
a7 VI # T e qredl s Sfra-wiqel d W"ﬁwmfﬂuﬁdﬁiﬁ#ﬁmm_
TEEH HT HY DA T mm#ﬁqﬁnﬁﬁlmﬁﬁﬁ%wﬁﬁﬁ?mm

L 34 BN
N

(1) SEwfEsh (vEE), wfew wfted, Yol g

() Ff weEe, g, st (fais) E;

(3) WS (i), Sa-wE, s (faEa)

(4) v (faAiEa), Se-ge, S

68. -

Which of the following is not caused due to excessiup use of fertilizer and pesticides ?

(1) Nitrification (2) Enﬂhicahon

(3) Bio-magnification (4)  Sodsadsion

I v wzTvE F i @ F s GEIEEIE T R )
(1) R @ g

@) ¥ i () Ta v

P-L BUREMIERIND %

pwins f(lfT'nEd are -

69.

Which of the fo ing i
" " llowm.g is/are true regarding scientific investigations ?
Results are not influenced by procedure.

(b) Social context may ;

Yy influence conclusions i : feati
() Dats 5l s¥80s e same ns in any investigation.
(@ o

There is no universal scientific method.
9 _® a;d;c:m ® @ma© B @md@ @ @wde)
Profafan T/ A srgeivm sy 3 i A wh ¥/

(a)  foom foman fafir grn wonferm =t v %, O
(b) Tt ST/ o o gt wend

(© ¥FE AW () THARE [
(d) W R R () H e

(1) (b) 3 (a) 2 @3

= HF )

(3 (o) 3 (q) @) () ()

70. An odometer in a car measures :

(1) instantaneous speed of the car  (2) average speed of the car

(3) acceleration of the car (4) tance travelled by the car
uF wR § e e € E
(1) &R Aehe =9 (1) @ Ol =1 st == ()
(3) wRF @ () @) o T T gl
N

71.  Which of the following statements is/are @egaxdi.ng Rainwater harvesting ?

(a) It conserves ground water.
(b) It reduces local flooding.
(c) It creates drainage problems.

(d) It can be used for irrigation of crops.

1) (@), (@ @ @ @ob.@ CO» O @ @ (@ ®)©@
Freferfag § @ #9 W/ LA TW-IA mmcﬁ‘,;aﬁﬁuﬁ /¥

(a) W‘i—ﬁﬂﬂmmmtl ol

(b) 7 e ST F % ‘:_3;

(€) Mﬁﬂmmmﬁﬂwﬁt‘

(d) mmwﬁﬂﬁmtmﬁﬂ@ﬂﬂ?i

1 (a), () @ @ (@ 0@ @ ®).© @ @) (@ ®)©
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X Ay m[ﬂt‘ :
) i the following Followi
; ; G tion given in 74. Following table depicts .
72. Identify the mirrors on the basis of informafictt ¢ BT colour changes in acids and bases when various indicators are added :

Mirror Nature of image SiZ_EEf_i_'“_’E_e___ Colour change in acids { Colour change in bases \
A virtual and erect | same as object. Turmitie No change A
B real and inverted same as object, China rose Dark Pink . B
C real and inverted c‘l‘llﬁl'ﬂ_!d Phenolphthalein C i . Pink
D virtual and erect dimirtished Methyl onenge D 3 Pink
(1) A - Convex, B - Concave, C - Convex, D - Coneave A, B, C, D respectively are : N
(2) A - Plane mirror, B - Concave, C - Concave, D - Convex (1) yellow, green, orange, colourless =+
(3) A -Concave, B - Plane, C - Convex, D»Qoncave {,2‘) reddish brown, pink, orange, colourless—
(4) A - Plane, B - Convex, C - Concave, D - Gonvex ) (3) yel}o"w, orange, pink, colourless -
Freafetfiaa SOt A @ g 3 SR W U @) T F ) o reodioh Srowny green, colourless, orapgg
zdn | wfafes 0 ypf | wfafes s189T Tt = St % 2@t s s s s 4 A A i o PR R
ora :
A S e \ e 1 : W AT \ miﬁimmj
m gfgdq qitada
B arefas AR wfasitia TEg & AT ; pers =~
TiEAe A
C | awfae sin wfeeifim feafea -~ * ‘
=g '{[’éﬂ@[ B
[ D et ok e s E B -
= ‘ PriTRfem C AT
(1) A - @@, B - 3aqd, C - 3@, D - J508
Afrer- oAt D LGic

(2) A -9Had, B - 3@ad, C - 3@qd, D - H99@

(3) A - 3Edd, B - THed, C - 37954, D - 305

(4) A -99a<, B - 3794, C - Faaw, D - FugE@ (1) e, =, S (AEW), TR -
(2) TE U, e, S (), A -

e B
73. The purpose of divergent questions in science tlassroom can be : _ :
(a) to promote critical thinking: skt (3) e, S, TEE, T =2

A,B,C,Dm:'{:

(b) to discern between students: £ (4) TR T, W, A, i ()

(c) to develop communication

(d) to identify gifted students" 75. A gender responsive pedagogy in science entails.
(e) to identify alternate conceptions (a) Use of gender sensitive language'

(f)  to appreciate subjectivity in science (b) Engaging students in examining stereotypes

1 a), (b), (c) and 2) (a), (c), (e) and ) Maki ender based groups
8 fb; g;)) E'e; and ((g §4J) ( _g Eb)l [(d}) and ({f‘-)—‘} Ed)) U:'nlfll;g d%emnmm instruction and @smegt -
(" et e o s 0o@Y G e
(a) e (fadee) foaa #1 ielEs. (sgE ) 3 & il ; e
(b) forenfeR 3 dt e w0 =~ ferr 3 i () sfe) Foereren 0 %
(0 o (wHwn) fEfmEAE ) (@) mm(w)ﬁwmﬁﬁmmwa
(d) wiawrmel faenfddf #t wemmR F@Ew (O (b) mazmaﬁﬁ fﬁ:ﬁﬂ -
(&) AFfous I@uron 1 9gaH I F > () feim (Se0) smufa T o O
(O fFERisfafeafadsas (O (d) ﬁﬂﬁ%ﬁ}@m PRl A
1) (@), ®) ) @ @ © @ @ B e ‘ @ (@) 0
3) (), (), (o) R (f) @ (@) ©) (@ R (@ @) (@M
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76. Three identical holes are punched at d nts is true
with water. Which of the following statemern

regy

heights I : - of water fr 2
ifferent Jevels (helf arding the Ll 01!‘ e

holes ? force

(a) Water from lowest hole comes out with B’Eatl‘ﬁl. force

(b) Water from highest hole comes out “'ilt]}—&-r watent ;

() Water from all holes comes out with e«‘-‘[ﬂl force

(d) Water from lowest hole falls at maximlx_rfl: diflanuf

()  Water from highest hole falls at maximua distance

(f)  Water from all holes falls at same distance 1@ 4 (© and (f)
O @and@ @ ®ade & @nC

o e = A - i (S T (O
fem | Frefefen F @ i @ FvE 9 8 AL E (FAE) FE

(a)
(b)
(c)
(d)
(e)
4

(1)

Fretem &g & Wt tfuay 99 & W 9wl AT
IR B A I SAfuman a9 F WY 7L T
Bl B2 | O FEE w9 | "El e

freTm 9% & T st g w frem
vorm 3% A A sifram gdt w fem (O
[t B | ot TEE @ w fiem :::!
(a) 31 (e) @ Gate @ @™ @

N

77. Read the statements given below and choode.the correct option :

Assertion (A) : It is recommended that acf(@l'_%mu]d be added to water for diluting the acid an
not vice-versa. :

Reason (R) : Dilution of acid is a highly exothermic reaction.

1)

(2)  (A) is true but (R) is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is ¢ grect explanation of (A).

frerferfaa wet 1 whey it vl s F o -

e (A) mmtﬁmﬁw%mmﬁmmmmqﬁsmﬂ
& (R): I F HeA (TIH) ‘ T A T sfvfaa ¢

(1) (A) 3k (R) 3 W & T (R), (A) F1 EgrpEn 7 &)

(2) (A) W& & 9% (R) 7o 7| —

(3)  (A) 3t (R) 2 e ¥ -

(4)

P-11 [HHANAINNENNA

Both (A) and (R) are true but (R) is not correct explanation of (A).

(A) 37 (R) 21 w& T 7 (R), (A) F1 7 =y 3

30

y A 92 fee T AT B9 Y g
Fan WA 7

(c) 3 ()

78.

79.

The colour of flame depends on :

(a) Nature of combustible substance
(b)  Oxygen supply

(c) Temperature of the surroundin
(1) (b) only ()

o

(a) =T 9= F ygfa w (@]
=r

-

(@) and (bp— (3) (a)and (¢) 4) (a) only

(b) e amgfd w
() TE-UH F AT |

e
(1) F= () @ @M@ @) @I (4) ¥4 (a)

Assertion (A) : The ceilings of cinema halls and concert halls are generally curved.
Reason (R) :  Sound waves after striking a curved surface get reflected in all directions.

(1)  Both (A) and (R) are true but (R) is not correct explanation for (A).
(2) (A) is true but (R) is false. -
(3) Both (A) and (R) are false. e
(4) Both (A) and (R) are true and (R¥T3 correct explanation for (A).
ARy (A): T EE oin diie o ofe ) =3 e afed o R
& (R): T A T R T A s A w el § e 8 o E)
(1) (A)miayﬁmtm(a),(&mm?ﬁt
@ @Wuhtmgrwat O
(3) (A) 3R (R) 2 TEE ¥
4) (A) 3R (R) 2 =@ € 3 (R), (A) 7 W =0T T

80. Which of the following activities is best suited to develop inductive reasoning ?

(1) asking students to measure anqb[ reflection for various cases of angle of incidence in a
plane mirror

(2) verify laws of reflection experi B ly
(3)  solve numerical problems baseWaw of reflection
(4) asking students to state laws of Qgection
Frfafaa § @ SR-H Tty s ¥ fon waifus 3w X2
(1) i o woae <o H T ¥ fafv= =l & foe wEdR-Fm W & o FE
() wEEE Ty TEE & forgdi =1 eanfad T
(3) s Frawm s sen s () aRensi ® T w0
(4) Foreferdi = woeda ¥ fram T F fow Fe

P-I1 LN 1




Foagt
Caqguiry
. ;3 1o ‘gcience a8 L
81.  Which of the following illustrates Sci¢ ination in

 rate of gernt
(1)  Explore factors which affect the rate t
(2) List five uses of coconut tree
(3) Observe the types of venation

m 5;'{“.!."-
gtd

s and trees
(4) Clnssify the given }\Iants into herbs, Shfult:;:aﬁa "= %?
et & @ 2 w0 ‘sta-wee # 76 3 s F

(1) aﬁ*ﬁﬁﬂwaﬁﬂﬁwﬁ“m
(@) e ¥ g (qu) % vt 39 I T

@) Fefum ol & frcfarara 3 T 1 FAET

(@) e (e 1 e, g G A T

(adntifi ?
82. Which of the following is true regarding sciéntific laws
(1) They are formed from scientific theories.
(2) They can't be challenged.
(3) They provide reasoning for physical phenomend.
(4) They describe relationships between observable phenomena.
ﬁﬁhﬁaaﬁ'ﬁﬁmﬁmﬁwf?ﬁﬂﬂm-a}gﬁ??
(1) A d9fe fagid @ = & y
(2) % AR T & o ww_ E
@) A sl feremd & fere (T e %4 €
L AN
(4) A I TREAe & 9 HaH 7o HE €
=
83. Which of the following factors are respoﬁgi_ﬂe for generation and flow of winds on the earth ?
(a) Uneven heating of the earth
(b) Uneven heating of the oceans
(c) Distance between earth and sun
(d) Gravitational force on the earth

(1) (a)and () (2) (a) and (b) ) (3) (a) and (d) (4) only (a)
ﬁmﬁﬁﬁﬁmqﬁmw&wﬁm%mm@

(a) = F1 sfrafd (Rad) oo

(b) WETETRI @ s (sfad)

© g EaAD )
(d) g e AW —
M @O @ @R T Wk g
a
p-I1 UREINENNG 32

R4,

.‘mn_ﬂ.\ drops a piece of potassium metal in a beaker of cold water and notes down the observations.
Which of the following observation is not correct ?

(1) It is endothermic reaction,

(2)  Tydrogen gas is evolved,

(3)  Pop sound is heard,

(4)  Potassium reacts violently with watdf. )

At wire % i § hform s v g T 2 E A s B fod ¥
fretetra # A 27 @ e s @ 2 O

(1) e e sfufem 3 N J
() wEgem W famfaa o 3 :{
() e Al A el P~

(4) wferm W@ % T T w9 ] sfufeioe 3

85. Read the statements given below and choose the correct option :
Assertion (A) : The rate of breathing in aquatic animals is slower than land animals. _
Reason (R) : . Presence of large amounts of dissolved oxygen affects rate of breathing of aquatic
animals.

(1) Both (A) and (R) are true but (R) is E.r:fonect explanation of (A).
(2)  (A) is true but (R) is false.

(3) Both (A) and (R) are false. N
(4) Both (A) and (R) are true and (R) ismect explanation of (A).
Frrfefian e ) 9fee 3l Wl 3w

aifrarert (A): o W ) g v T i A R

T (R): mﬁgﬁgmaﬂﬁmﬁwﬂ%ﬁaﬁmaﬂmmm
W) {msﬁz(maﬁinﬁ%mm},mmmqﬁ%s

2) (A) T ¥ g (R) T B |

(3) (A sl (R) 2Rl e &1

@) (A}sﬂtm)ér-ha%mm,mﬁaﬁm%n

NN~
86. Which of the following is not a feature of alternate conceptions In science -

(1) ldeas are resistant to change.
(2) Ideas are developed from observablesfeatures.
(3) ldeas do not demonstrate cause and(@ffyct reasoning,

4) I1deas are stable. N
(ﬁ!:lfafai‘l} e”ﬁgmmmﬁﬁmmﬁﬁm?ﬂi?

1) ﬁqnqﬁaﬂigﬁﬂ‘ﬂﬁafl =

(2)  frae s fadrel 3 e fG S
3) e, et ol e 7 T t
(4) foam fem R &1
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rrect OF
se the cO
Read the following statements and choos
thermic reaction:

87.
S1 - Photosynthesis is endo

and S2 is false.

S2 - Respiration is exothermic reaction- @ Stis true 27 are true.
(1) Both S1 and 52 are false. eC (_;} Both 51 and 2=
(3) 51 is false and S2 is true. b, .

St 1 G F

9 few el F1 wfzn st W@
S1 - WY Tvery S sfiEa €

T
mﬁ?fﬂszm%'

S2 - yauA FemErd afafwm € N
(1) 1 3 S2 2 e ¥ --I,_T-.?) Sﬂmszﬁqgﬁu
(3) S1 7o & a2 W B 4

88. Which of the following statements is/are true ?l fowers.
(a)  Self pollination takes place only in bisexua d cross pollination-
(b)  Bisexual flowers can pollinate both by Sengjn( ) and (b) are false.
(1)  (a) is false and (b) is true. (2)  Both 1 2 d (b) is false.
(3)  Both (a) and (b) are true. (4) (a)istrued

frafafes & @ #9 =1/8 &1 W@ 67

IMPORTANT | w :

Candidates frlll'.le to do questions 31 to 90 EITHER from Part - Il (Mathematics and Science) OR from
Part - 111 (Social Studies / Social Science).

gdigrTrsat Ft T 31 % 90 A AT - 11 (Afore & ) A W - 110 (arfae srera / araf
(O

T ) @ & E {a
PART - 111 / 9T - 11
SOCIAL STUDIES / SOCIAL SCIENCE - WIMITA® g | wrnfs e
Direction : Answer the following questions by ing th i i
- 5 F@ﬂ:}q g the correct/most appropriate options.
frdr : Wﬁﬂ%‘mﬁ*ﬁqw@/mmﬁmgﬁq:
31. Match the following pairs and choose the*appropriate option :
Rocks Origin/formation
(a) Igneous Rocks (i)  Change under great heat and pressure
(b) Sedimentary Rocks (i) Molten Magma

() Metamorphic Rocks (jiii) Deposition by wind and water

Choose the correct option :

(a) Y Fa feferr g (fe) HEMEL A
b . , - oF - I w3 T T : i g
(‘ ”’ (’f}’ i ‘3:3;1'1‘_“'&3} s i &“. oy s oy 2 e (1) (-G, )i, (©)-6)
() (a) 3t (o) 2 e &1 —4) (@) W R 3T () TR A A =
89.  Which of the following characterizesr‘ﬁﬁ'j'mn circulatory Tvslem ; : (4)  (a)-(i), (b)-(i1), (c)-(iii) w—
(1) , double circulati P) closed, single circulation !
(3) ;f)::d Sgulfl.ecz:?jag:n k;f:; open, single circulation fretfefam et @ faem Fif sh F T HAA -
frerfafaa & & s grma sfes=r yorci-a% &1 affa Fom 2 bl
(1) g, fomeramt ({p) w9, WA HA () (i) 59 e o % s afafda @ S €
(3) w99, fgwm (4) fogn, e T b) s d (i) EfeCmh
3 agarR, 5w fa
90. An object floats with %th part of its volume outside the liquid when putin liquid A and %ﬂl L o @) ‘;ﬂ%?’(ﬁm kAl e

of its volume outside the liquid when put in ligui 'hich of the followi K =
(1) Both liquids e Gt Ide:sini:‘jft i1 liquid B. Which of the following statements is & @ farweq w1 =99 F
E‘f; TD}:-ns:jm 0{1 liquj_drB isdgma!or thm__sjenﬁity of liquid A. (1) (a)-Gii), (b)-(iid), (c)-(i)
s e IL’]"ISI t?S (l. iquid cannot b&&“mpdn\j on the basis of above inf : @ (i -(i). (c)-(ii @
4) Density of li ——— 2 i e information. ) (a)-(iii), (b)-(i), (€)-(i1) _
(4) nsity of liquid A is greater thf density of liquid B. (3)  (a)-(i), (b)-(iii), (€)-(ii) =]

(&) (@6, (b)-(ii). (©-(iid) -

o

U TG P T 7 A SN T 79 A 5 e 0 s

L (o ) s 3w A

32. Watan Jagirs were given by Akbar to Which of the following chiefs ?

L 4
“ﬁﬁﬁmm%ﬂﬂﬁﬁtwm%3 A .

A < (dF - oo
I W FA wh R () 4 M}W*mﬁﬁﬁtlﬁqﬂ (1) Marathas €] S:.sodlyaRal.puts
(1) @iz & 99 g 2 L. (3) Indian Muslims ) Sids
() B F T, 73 A sy 3, s 3 Fretfiafian 6 @ f W B AR e a2 |
3 mmmmwﬁ%wﬁmﬁﬁm < (1) =S (2) Ferifem o
(1) FHA TR, 9B F T Q o 8 s (3) T e (4) fedi
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35.

. - ‘.;rl}'
The Indian National Congress 1 the:¥
British. Choose the correct option-

(i)  The Congress declared that RE

(i) It demanded reduction of ““Tnml .
(i re funds for 1f ;
bi) ment tax:
(iv)

A i) and
() Only (i) and (i) are comect (2 :::: ng:]i (i)
3 ii), (iii) and (iv) are @ )

;;ﬁs&::r;{r:(m;n@;m%m*w gt
() e e on fo s fafes A
() T, o e s o T
(i) T ferard % forg s s 1 A A
(iv) mﬂﬁmm%wmm’

e (if) T (i) T €| @ ) 5
are (i), (idi) T (iv) 99 € @) m(ﬂ{u}aﬁ |

33.
British rule

and cut in
rig'dﬁ“"- <
Congress demanded mo

; s ot entertain e correct
It raised the voice against enterta

(iii) ar
are correct

@331-@ wmmm

rrect (4)

‘-

—
O qd &1

M e (@ ()

3

i i t about AJ n basin ?
Which of the following statements are COTTeC ®,

(a) This region is characterized by hot and wet climate throughout the year.
(b) People practice ‘slash and burn’ agriculture.

(c) People mainly grow paddy.
(d) Aircrafts and helicopters are also used for reaching various places in the basin.

Choose the correct option : —
(2) Only @Tc) and (d)

(1) Only (b), (c) and (d)
(3) Only (a), (b) and (d) (4) Only (@) and (0)

srier afe & 9§ Frefafaa 4 4 @9 3 599 o §0\

34.

(a) o 78l T iR T oAy wd € <

el
(b) e T P [~
(c) e uA I E) 8

(d) 3 H FE v T T & Fore wardrersl aon deftaie
F1 9w

| fawes #1999 FL) Feeen e #1

(1) a9 (b), (c) 991 (d)

(3) ¥dd (a), (b) 79I (d)

P-11 [HNENENN

@) ¥ (a), (b) 7o ()

36

36.

Which of the following is true about Ashoka’s dhamma ?

{a) [t did not involve worship of a god.
(b) It did not involve performance of a sacrifice.
(c)  The ideas of dhamma were inspired by the teachings of Buddha.

(d) Ashoka appointed Buddhist mdrks to teach people about dhamma.
4

Choose the correct option
(1)  Only (a) and (b) ) Only (b) and (c)

(3)  Only (a), (b) and (c) r ) All (a), (b), (c) and (d)
frefafaa § 4 253 @ %o svivs % ok d fam 58 32

O R R T pe——y

(b) = faeht et Febwts s

(c) &= fo=m 4% ¥ 392 & 9fm 4

(d) T R R e 23 % fom s 3 g fagsti # Fafa
& faFe =1 =991 51
(1) %ad (a) 791 (b)
(3) < (a), (b) T (c)

s g

)

N
&

Fad (b) 791 ()
(@), (b), (c) 7= (d) =7t

e,

Which of the following is/are correclyshatched ?

Crop Required Clintafic Condition
(a) Coffee - Cool and dry elimate
(b) Tea - Warm climate anT:l high rainfall
Choose the correct option :
(1) Only (b) (2) Both (a) and (b)
(3) Neither (a) nor (b) (4) Only (a)

fre & @ W IR T @ G

wEA
() T S S
(b)y =™ 5 ﬂﬂmm%ﬂ
W fases & w79 Hifww) o
(1) Faa (b) ) ()7 (b)
(3) A (@ A (D) @ F9 (a)
37
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37.  Consider the following statements about

i

38. The Government has passed laws that ma

{a) Several rivers flow

(b)
()
(d)
1)
3)

Ladakh and chowost! the

through Ladakh.
js extremed oly cold:

t
Himalayas:
' g hot sunlight.

A (d) are correct

Due to high altitude, the k[m:;h here is high raintall
Despite being in the rain shadow ¢
i roin
This area experiences freezing Winds aﬂ‘il:" (), fe) an
¢ (2) On¥
Only (a). (b) and (c) are correct Only (a) and ()

Only (a), (b) and (d) are correct
v (a). (b) and (d) are corTect e ) P

are correct

gqﬁaﬂﬁf‘ll

were & A # few g o Ful TAAY
{a)
®)
(@
(d)
1)
(3)

e | E}Wigﬂtﬂwﬁ:ﬂimi
siftrs $amd B F w0 TR
s & e g 3 g e 3 7 A
i xS 9 7 o w

e (a), (b) 79 (c) T E @ ¥ o (&) W €
¥ (a), (b) 7o (d) W € (@) FE @ T E

.wﬂﬁﬁﬁz‘ﬁg'

ta provide creche facilities.

1) 15 E} ’ 5 T (3 30 4) 10
TR A T8 mﬁﬁﬂﬁ;ﬁmﬁm(ﬁ!jﬁtﬂ) arfard foren & el feen wefia
#t Hem A e B
15 () e @ 30 @ 10
M~
39. Choose the measures to control sqil grosion and depletion from the following.
(a) Mulching (b)  Over grazing
(c)  Terrace farming (d) Inter cropping
Choose the correct option :
(1) (@), (), (d) only (2) (a), (b), (d) only
(3)  (b). (c). (d) only — @ @) only
Freaferfan & @
WW@MWWM#MmmW'
(a) wed =N ) v
(© 3w N
(d) 9+ wHa
wl fawe &1 999 F:4) S S
(1) %9 (), (o), (d) P~
@ w0, 0. @ @y o D
@) F (@), ), ()

P-1I [INNNEANNN m

pormel AR

de it mandatory for organisations with more

a0, Wha coined the phrase, *Unity in Diversity’ ?
(1) Mohandas Karamchand Gandhi (2) Subhash Chandra Bose

(3) Sardar Vallabh Bhai Patel {4) Pt Jawaharlal Nehru
*fafarien | e e f fom
(1) T e i (2) FmAzEmA
(%) HTER A e 3 () e e 3
-
41, Below are two statements (A) and (B) in the context of Mtﬂ: workers in 19% century.
(A) During the First World War there was a huge demanihfar shoes for the armies.
(B) 1;1\\;-22(;2; &e:zie mf;rm ordinary castes saw this as an nn};rtumry and were ready to supply
Choose the correct option : O
(1) Both (A) and (B) are false {2)  (A)is true but (B) is false
(3) (A) is false but (B) is true (4) Both (A) and (B) are true
e 2 F9A (A) 20 (B) 19 5 vl § w0z = wm = A E w
(A) e fava g 5 4w B Ty, o =1 s i e d
(®) wﬂﬁtmmawmﬁwmm@amammaw
e fawey =1 9 &)
(1) (A) 3 (B) = e & 2 mwﬁ%ﬂfﬁ{@)mt
(3) (A)TeRm & @l (B) WEI # (4 (A) 3R (B) SR A ¥
b
42.  The category ‘erstwhile princely states’ was applicable :

(1) between 1947-48 and 1956 when they were recognised as administrative units
in the post-1956 when they were no longer retained as administrative units.

@
(3)  to none as no such category existed in India,

(4) at the time of Independence around 1947-48 only. O

*spad feamea ' Aot o o - ~
1%7%mlﬁ*ﬁamﬁwmﬁﬁmtwfmm~

(1)

(2) 195«€smmﬂmﬁamﬁtmnmﬂ@w,

(&) mmﬁﬂﬁﬁmﬂ@ﬁﬁﬁmaﬁaﬁﬁ

4 T % T A 1947-48 F 3 TE o
39
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43. Below are two statements (A) and (B) in th

44,

45.

P-11

n sxt O ;!lll ravi uru.
]Il'if. lNaﬂdeCJ
e (L ?

ieC ste.
vithin a single sect or ca

(A) He advocated equality of all

ave faith in all gurus.

(B) He inspired all of them to h
Choose the correct option :

(1)  Both (A) and (B) are false
(3)  (A) is false but (B) is true 3.
ﬁ#a’rmm}aﬁr(nmw?éiﬁﬂﬁf

(A) Wwaﬁmaﬁwm?r

(B) mﬁwaﬁwwﬁﬁm@%mmﬁw
W@ faweg #1797 F .

(1) (A) 3R (B) i 7o E

(3) (A) e & S (B) TE €

.~4{2) (A) is true put (B) 15 false
<) Both (A) and (B) are true

2 [A)aﬂ%ﬁfﬁ(f’lmﬁ
@) (A}W{Blﬂ‘ﬁmﬁ

The rocks that were formed 300 nulﬁan_\ears after the earth was formed, is :
(1) located in Western Australia ::r'j

(2) located in Eastern Europe {‘ “J

(3) located in the Himalayan region.

(4) considered as youngest rocks iﬁ_lf:l;e world

ot 9 3 91, 0 g 35 For S g e d e A, 2

(1) it sreferm # feaa €

(2) qEt g ¥ fem €

(3) femrer & 4 feem &

@) favs F Tefam e o S E

-y
o=

wap‘” Kesari which became one of the strongest critics of

|
o

Who among the following edited n
the British rule ? \
(1) Balgangadhar Tilak <2 Mahatma Gandhi
(3) Lala Lajpat Rai Y74)  Jyotirao Phule

forefefiaa 4 @ 9 mmm@ﬂﬁﬁmwmmmﬂwmmmm?

L 40 ]

46. Which layer of th ;
% Emi e e at"""i';Phere has very thin layer of air ?
Moo (2)  Stratosphere (3)  Mesosphere (4
HrHEA T H A7 %1 759 Tt o A 2
() afertem 2) T HETE @) wemE (4
Which one of the following is not correct fo:g;m—b}mjaka ?
(1) He had slaves and hi ik
es and hired workers to cftipiate the land.
(2)  The king often used him to collect taxexfrom the village.
(3) He did not function as a Judge and paficeman,
(4) Usually, men from the same family th‘_the position for generati

frefefan § 2 B @1 s ¥ oy HEE

(1) T T T 2 o

(2) e 0 G T A W A

(3) =it s gfem &1 wm o F A

(4) m@ﬁm?mﬁwmxgwﬁﬂﬁﬁm

47.

Match the following columns and choose I:l;qpmpﬂate option :
Sphere of the Earth Feature ™ |

(a) Lithosphere (i) Plant and=fgrimal Kingdom

(b) Hydrosphere (i) Made up-efrocks and minerals

() Atmosphere (iii) Various dmsces of water

(d) Biosphere (iv) Thin laye@DAir

(1) (a)i), (b)-(ii), ()-(iv). [d-0)
@) (a)(id), (b)), (©)-(0). (A1)
@) (@) ()6 (©-(), (d-GiD)
@ (@), )G, (i), @)
Feferfiaa 3 & wd sifedl 1 e FC; O

48.

get & HE Fargrean ‘__ﬁ
(a) THEHSA (iy TRY @ a?—jrq
(b) ST i) T T & T g
(¢ amHEE i) EF Pl &
(d) Stawsd (v) GH w{w
(1) (a)-(i), (b)-{iii). (c)-(iv), (d)-() (@)
@ (@), (b)-(iv), (©-0) (d)-(i1)
@) (@-(iv), B)-(), (- (d)-(i)
@) (a)-), ()-(ii), (€, (d)-(iv)
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w lor individual erg
. of rovenue Tales '
9. The Mughal revenue system with its own sehedult ol 1

53.
called : 0 g Rl |i1l§l’
(1) Zabt ) Zal ( ; AFE:
Wn:ﬁmhﬁ{nm;%mmuﬁmwwqg () SR
(1 = 2 W @ ™

Thi . o schnological development in
50. Which of the following statements 1s/are true ;E{‘P‘ tec

construction from the twelfth century 7 M hikhara
(a)  The weight of the superstructure was carried Ry the s i i c;unshﬁk‘mm-
(b)  Sandstone mixed with stone chips was il‘l.(l'??.{l’%'}v used n

Choose the correct option : F ) t
(1) Only (b) is correct (2) Bothfayand (b) are correc
(3) Both (a) and (b} are incorrect (4 Onl:-'Eﬁ-‘f oot

ot % %7 m wu s w3 e Fen R g o e e 3 T S o
%7
(a) sifiwe 1 wR fored W oTE fom ww A

(b)  Fomton ¥ an-veer 7 wem & 97 g fivam e it @ A € A
wd fawey F1 v w4

(1) FEp @t (2 (@) Sy < R
(B) (@) 3t ) 3wt ) FEmERE
—
51. I;la physical map of India if you have to locate thelBeccan Plateau, it will be represented by the
our : [ .
(1) brown (2) green ) M"uw (4) orange
T 3 e ST e s e 5 ) v 4, 7w B 41 g v )
m @ @ & () e (4)
52, The opening time of Central Government Offices in India is 9
- . :m T i
?:;ggt Opening of the Central Government Offices lucahe:i at 2!-1)i ?aslts;.r.;:l?fl:;qu i
45' East Longitude near Itanagar, respectively : v
(1) 0819 am. and 09:10 am. respectively
(2) 08:50 am. and 09:41 am. Tespectively
(3) 0941 am. and 08:50 am. respectively
(4) ;‘9:10 am. and 08:19 am. respectively =J
WIE H FE W s T W B
T 80° YH WA A4 TTEW F 92‘453;211;%2:%3 ; Wmmw) bbby
Tt W . T 0 & b

) m:w#w;wﬁammim;mﬁ ::_)J
2 m:w%wmﬁmw%mnﬁ =
(3) R A F 09:41 7 790 T ¥ g5y
(4) T G F 09:10 T 79 Taw 08,1 71y

Ll [T T T 2

Match the following concepts in Column - T with their examples in Column - I and choose the
appropriate option :

Column - |

Column - 11
Concepts Examples

{a) Discrimination (i  Differential pay for same work
(b) Inequality i) v-.ua,;_;m superstitious
() Stereotype (i) Wmﬁﬁmﬂwzdwbehhed!'htu}eismsa family
(d) Prejudice fiv) Gulsﬁgond at cooking
(1) (a-iv), ()-Gi), ()G, (d)-iii) I~
(2) (@), (o)), (e, (i L
(3)  (a)-{i) (B)-{i). (c)-{iv). (d)-ii)
() (a)-(iii), (B-(0), (e, (d)-v)

viuqm?ﬁnﬁ!mmam-nﬁmwﬁ#Mﬁﬁgﬂmmmmﬁm
i —

w1 P E.\l
SaLd <
www
(a) VA P % —
(b)  SEHER i 5 7
. i (i e e S & i e g @ b7
. i &
(d) R (iv) S WA i e .
—
(1) (@)-(iv), (B4, (1), (i) ™
i N
(@) (@)-(iv), (b)-{iii) (-0 dHGi) 3
() (@), (o)) (i) (-G :‘
(@) (a)-(i), (b)), () (4Hiv) D
3 ;

P10 (U



AL UL LS St
N mnm N
{ olbjects i anuent t
sple and 08

54.  Match the following in the contey! of ped

option.

A i Atery
(a) Barygaza @) Stamped red-glazed P

enis il Bharuch
(b)  Shrenis (i) armers

(i) Ind c-p\'lmient i

(€)  Arretine ware -
{iv) Assogations of crafts

(d) Grihapatis
(1) (@)-(id), (b)-(iv), (c)-(iid). (d)-(i)
() (@Hv). (B)-Gii), (-0 (@i
(3) (@), (b)-{ii). (0)-iv), (@) s
M) (@), B)-Gv). (-G, (d)-{ii)

chants
cons and merc
p(!rH.‘

fae 1 TE
i 2 el gl 5 e el 1 o 0 A
A B
(a) e () e o
() it (i) =
() Qe (i) T
@ T

(iv) ForeR] e mafed % W
(1) (a)(id), (b)-{iv), (c)-(uid). (d)-{i) '_‘
(2)  (ay{iv), (b)-{iii), (c}-{i). (d)-{1) "‘
(3)  (a)-(i), ()-(ii), ()-(iv). (d)-Gi))
@ @), B-Gv) (-6, @)

55. Consider the two given statements [A}ﬁd (R) and choose the appropriate option :
(A) : Those places West of Greenwich will be behind of Greenwich time,
(R) : The Earth rotates from east to west and sun rises early in eastern side.
(1)  Both (A) and (R) are true but (R) is not the correct explanation of (A)
(2) (A} is true and (R) is false
(3) Both (A) and (R) are false ey
(4)  Both () and (R) are true and (Ry.sjthe correct explanation of ()
fzwm(a)wmmwﬁmimammwml
(A) : < e i & e & €, 1 o s A v g
®): qﬂﬁamﬁmma@}m@@mﬁmmh
(1) =R (A) o (R) T 53 (R), (A ) e 7
() (A) T & 7o (R) T B O
(3) S (A) T (R) o

@) aﬁm}wmw?wmmmﬁw@mm

P11 [RANERAn0 44
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57.

Consider the statements (A) and (B) about Paramountcy and choose the correct answer :
(A) The Company claimed that its authority was not supreme.

(B} Inorder to protect Cnﬂ'lpmw
any Indian Kingdom.

(1) Both (A) and (B) are false
(3) (A} is false but (B) is trye

interests it was justified in annexing or threatening to annexe
~—
_

2) l‘A}mE%but(B)ufahe

(4)  Both (A gnd (B) are true
(A) 3t (B) Tl 2 o % iz # foram Ao MR 3w w1 T A
(A) R 3 P o e s

(B) 5 el B v o e ol A e w7 T T e 1w 2w
rET H W T @

(1) (A) 3t (B) 2 Tem i
(3)  (A)TeR ¥ A By TR

(2) (A)TE ¥ B (B) TR
@ (A) 3y 2 =@
-

A population pyramid with big base and skinny topsfows :
(a) High birth rates £

;_‘\‘1
(b) High death rates in higher age group <t
(¢) Relatively large number of young populati :
(d) [a:genumberofdea&snﬁn!anu [®))

Choose the correct option :

(1) Only (a). (b} and (c) (2)  Only (b). (c) and (d)
(3) Only (@), () and () (#) Only (a) and (b)
wa@mmmmmmmmz;

o

(a) Iod W T —
(b) ‘q;wgilﬂ'ﬁﬁﬁﬁ ‘T\j
() T w9 s 3 et <
: A

l-'-“

Wit fareg 1 T R o)
() w0 @ G

() ¥4 (), (©) T (d) (@) ¥ (a) 7 (b)

45 J
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58. Women were iﬂllg]‘ll at home in mmﬂ'\ century l'\“]-lmli’ll ndia

(a) they could study as well as do domestic duties. { them.
3 _ . — :

(b) people believed that going out in public places ¥ ould corrup

hir education from relatives and friends.
~J

(c) people wanted to hide the fact of
Choose the correct option : —3 9
0 @i @ Gme e @00 @

mm:mmﬁmﬁa@wwmmmﬁm
(@) amtm-mmm-ﬂmn&ﬂ_

(b R i s e T v @ @ fae |

(© <im s3T5 e g A

wt faFew w9 F:

(a) and (b)

1) (a3 () @ mIE ©E @O @ (a) R (b)
~J

—3

59. Consider the following sentences (A) and-8) about motions of the Earth and choose the
option : N

(A) Rotation is the movement of the eag-ﬁ-;fm its axis.

(B) The axis of the Earth which is an mefinary line, makes an angle of 334 with its
plane.

Choose the correct option :

(1) Only (B) is correct (2)  Both (A) and (B) are correct

(3)  Both (A) and (B) are incorrect (4~ Only (A) is correct

Wﬁm*ﬁam“mﬁlﬂlwfﬂmﬁmﬁamaﬂhmma%wnﬁ

(A) e & S 18 T O Feeg |

]
(B) 3ot 1 a7 T et v b, g g www B, = EIm T §
w# fawes = 99 w4 =

(=,
(1) e (B) Wl # (@) (A) 7o (B) 7 &
(3) i (A) T (B) o E (4) ¥aE(A) THE
P-1I1 [JINENINEIND 46

wll.

61.

Archaeologists play an important role in deciphering hi Which one of the following choices
is incorrect about their nature of work 7 eciphering history. Whic!

(1) Explore and excavate tools, weapons, pots, pan, etc.

{2) Look for bones of animals, birds and fish

(3) FExamine the written rechids

(4) Study the remains of buildings, paintings and sculpture

seran ) T 1 e ey 8 e 7w s fr #) Pt § 8
Fm ) v F A d T mahaf 10

(1) S, e, 4, 7 2 e i e g
(2) e, i, sfer 1 2f

(3) fefea wwf (Frf) # st

@) v, Folt () o ol & vl 1 s

Whichorf&te[ollowingareesa\ulﬁalelemrsofa{ahmal?
(a) The trial is held in an open.court

(b) A copy of charge sheet and all other evidence that the prosecution presents to the ¢
given to the accused.

() The defence lawyer is nat allowed to cross-examine the prosecution witnesses.
(d) Judges decide the matter on the basis of the statements articulated by lawyers.

ourt are

Choose the correct option ©

(1) Only (a), (b) and (©) {2) Only (a). (b) and (d)

(3) Only (b). (c) and (d) (4) Al (a), (b). (c) and (d)
ﬁnﬁ%ﬂﬁ—ﬂﬁmﬁwm%wﬁ%?

(a) Wm%ﬁumqﬁgmﬂmm%n

(b) m-mmmw‘g«wmﬂmmﬂﬁwmmﬂamm

mwﬁmﬂmwaﬂm#wmqmﬁwﬁ%mmmﬂmﬂfmmh

(© :
o g e e 5 o e A B

(&) i S % W
Wt farsheg = @A HU e
O FEEO™O
() ¥ ), (T @

(2 FE (@), (B) T
@ @ 0), @ @TH

47

LRV

4__—#



. : e (5-
62. Project method in Social Sciences involves " Discussion

(@) Activity ) o

(c) Experiment (@) Narrat

Choose the correct option :

(&) 2 (a) and (b) only

A well-designed portfolio

{a) purposeful and systematic
(b) reflect regular assignments and activities of student

(c) forus mainly on the Preparation of report card

(d) accumulation of student's work over 2 long, period of time

in social sciences should be :

M @Emd@ - and © Choose the correct option :
() (and@only @ @ (1) () (c) and (d) D @ @and@
mmﬁmWng| (3 (a), (b) and (d) S 4) fa), (b) and (o)
@) ey < p e o O 2 A P o e 4
© wm o @ e i
[;; (b)  Torenef 3 Frafem el = i o e |
W e wm e s O © ot \HTfED:L
1) (@), (7 () @ ¥ @) ‘ = "
(d) ﬁmﬁﬁﬁ?mmaﬂmwwm1
(3) ¥aE (o) T (d) @ () BT Wl T = =
63. Which region in India has the highest concentration of Adivasi communities ? 1 (), ()7 (d) (2) (a). (o) 7 ()
(1) Southindia  (2) CBast India (3) Westlndia  (4) North India (3) (@) (b)) (d) ) (@) b))
y T
W%mﬂ?ﬂmwiﬁmmmt? 66, Fundamental Rights and Duties of Ipdian Constitution are written on the walls of social science
(1) Fmwmd () CRfvad (3) fEmu@d  ¢) IWuwEF classroom. This will make childrer ¥arn primarily through g
< (1) Imagination  (2) Memorisgtion (3) Reasoning (4) Observation .
64. Mkhﬂfd‘ef““““"ingﬂhﬁbewmidewdasgende:neuh-a.latu-uosphereinasd\ool? mwﬁﬁaﬁmwwwmmaﬁﬂﬁﬁmmm T T A
(2) A group of girls are paking Rangoli Tem _ wgufmmmiing
{t) A group of boys are volunteering in annual function, (1) e 2 m#ﬁlﬁ @) T () s
(c) A group of girls are preparing for dance competition. o . e
(d) A group of boys are arranging refreshments for guests. 67. Which of the following resources are relevant to discuss the theme ‘discrimination’ ?
Choose the correct option : (1) Universal Declaration of Human Riglhlsv ‘ e piiuetiing 3
(1) (b) and () (2) (a)and (c) () () and (d) @ (@) and @) (2) :f:::ﬁve of B.R. Ambedkar's experiences of looking for a place to stay a g
Frefefen § & 29— Fermera ¥ fen' v e 91 ey o) Advertisement of a woman washing clothes in a commercial.
(@) 3ol % o wE gROGDe a7 (4) Text of Ashokan inscripth ‘ ,
b) T & T g ¥ Wz W s’ < R o, Pl R 9 e &2
(o) wrefmdl % W e J-srifT 31 da w5 (1) o dfe S = ) =
() M*me*mwﬂmm () s, s o o T T R G S A
e w s 3) @ﬁmﬂaﬁﬂ%‘ﬁﬂ!‘@m
(1) maa() @ (@ ® ® 6] et % el 91 fefd o
@ @ @me) ©
LR [T T[T 48 PIL (e




riatg. 9P ¢ Which of the followi i
68. Match the following and choose the appropiiair—% prs Which o ollowing questions assess the analytical aspect of the cognitive process 7

e, skilldéﬁ““i“ - (a} \':wt are national curri‘:ular objectives which can be achieved through heritage projects ?
Gensith 'r\-\_inwdrds differently abled, showing (k) Gt::;;:s"; methods of history useful in the research of (a) science; (b) art and management
(a)  Discussion (i) EAISY nt &
enviroTe In how man ional ) P -
) Mam@gkal 5 icicis © ae madc”b:d'?es'o“ 1“5%5 and local dialects 'VividhBharati’ programmes
(b) Observation (ii) ) s ssding and (d) Write a review on two historical segials you have watched.
. 1 re-l
(c) Normative concerns (it} Reporting. ol (¢) What are Bharuds ? In which '&Bﬂf State this is popular ?
(d) Explanation (iv) Listening, expressing opinions and finding out Choose the correct option : &%)
(1) (®), (), (d) and (e} only ) {a), (b) and (d) only
(1) (@)-(iv). (b)-(i), (c)-(i). (d)-(iii) ) (3) (c) and (e) only % (a), (), () and (d) only
(2 (a)-(iv), ()-i), (c)-(ii), (d)-Gi) ;:: Feiferfian 7 8 -8 9 Hae vh & fawsmes e 6 sie £ 2
r
J i i Faitsta) fem = wwa
() (@)-(i), (b)-(ii), (c)-(iv), (d)-) g (@) g?ﬂﬁfm s St & o s s afeiEs F g Ei (I)
@) (@)-(iv), (b)), (c)-(i), (d)-(ii) F:- (b) g E Tafirai (a) foram; (b) FoODI TR s & e F9 FeEs #

() ‘mm'mmm@mwwmﬂmﬁmwm

ﬁmﬂaﬁwmﬁmmﬁmggj
(d) mmi@mﬁmw@mmmq

HTHET & Heham drrrand/ swand
(&) w=EF %7 fro du/va O o @i 17
@ () e 5 o, wafern 3 ot fefen it ey 1 o
(b) sEEE (i) QCI:I{ - (1) F= (b), (). (d) 3 (e) (2) T (a). (b) 3 (d)
. (c) 3R (d)

o e (@ # () @) A (a). (b). (€)
(c) Fram® wimn (ii) m@@. fom-qag i o &) @ @

< ing home

f f y well. After reaching
(d) T (iv) T, ﬂ‘{“ﬁm w0 3t T & v 70. L::a Seul!i t?::it 1?; ;::.:She me:\h%t::: ;axﬂ;(;mm?d s;' ::;\;es e o na the
S COoOl - .

) @A), ®)-Gi), (-6, ()i » her tea shop. Al this can be referred 03 —

Housewofis. (3) Paid work 4)
2 R B R ¥ | g F e T WA

; (1) Double burden (2}
@) (aiv), (b)-(iii), (c)-(ii), (d)-()

() (a)-(ii), (b)-(iid), (c)-(iv), (d)-(i) ' YA |
i T ) T A F—
() (aHiv), (b)), (o)-(i), (d)-ii ke ™ N -
(©-0), (d)-Gi) (1) Zendm @ w (
P-Il INREENIRNIN 50 *
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t work that involves

 learners i0 @ prOEE

i by
71.  Which of the following may be acquired solving tasks ?
students in authentic, real-world problem-

nt knowledge and 5ki1!s .

Which one of the following
73 . Statementy
curriculum ? Choose the correct opti accurately reflects the concept of plurality in social science

() :Em:llusi-on of multiple Perspectives
@ xclusion of certain pers

(%) Use of complex language i ;
(4) Dominance of a single ideology eence carricular material

(1)  Improvement of contel

- : tion
(2) Enhancement of creativity and innovatioh <

n and team work .:"- ’

(3) Promotion of collaboratio J g faa e
N i )
(4) Development of critical thinking skills < e T @' ! Frfafan % 7 #-m wom w2 Wl
- o £ e - ¥ g o —
e 88 e s e e o A 2 S A (1) 3 SRR st R il Reaisfors a7
W aFEAE? o (2) Tt faam & §o o w
(1) faw 7 3 Fwm g e mf‘mmmﬁ‘hwmm
(4) TS T e o
(2) TR o gfE
@) e oh i = o 74. Which of the fﬂ“"_“'i“s provide scope to develop critical thinking skills ?
o (a) What role did the Yamuna play in the layout of the Mughal city at Shahjanabad ?
(4) TEEEAEE |/ Fhwe w1 faFE | on (b) IWhat is Ithe purpose of press conference 7 How does the press conference help you get
o information on what the governgwent is doing ?
<t (c) Differentiate markets with illustrmife examples.
72. The Constitution determines the relationship amagg-people living in a territory called citiz (d) Itis necessary for the civil serv be politically neutral. Explain.
also . M~ {e)  Availability of water is a major affecting the settlement pattern. Discuss.
(1) relationship among neighbouring counlriescy‘} Choose the correct option :
(1) Only (b), (c). (d) and (e) —£2) Only {a), (b), (d) and (e)

2) relationshi e and
(%) relationship/among peoplerand government (3)  Only (a), (<), (d) and (¢) CQ)  Only (a), (b), (c) and (d)

Pt 4 8 39 AEETES e B 5 g $0 F e ven s E?
(a) Ve # e W R A A i o 2
(b) hmaiwwmt?mwmmtmwwwmﬂhmﬁ(ﬁmwﬂ)

(3) relationship among neighbouring countries and government
(4) relationship among people and corporates
o
wawT T & A W A A A e Twe-way fuif s o Te

Frstifea e & P T FEr e €2
= N () Frea Tl & we w F o |
(1) e i F ¥ wEY :__ &) i & f T o o w9 # Tees A1 = w)
(2) i i wEER & oS Hey N (€) v w T W ww A FT F UH g FF §1 9w
o) T famwe w1 =T R w

1) 2l 3 wwR F W wa
@ Y ) (a), (b), () (o)

(1) Fae (b), (), (@) FE
(4) ¥ (a). (). (c) M (d)

(3) FEE (a), (o), (d) FE
P-IL (I

(1) @i s b ¥ W ey

P-11 [NURENIEENND 52 N ]
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o assess mdi\'!duﬂl performance of 5,
0 AESeSS

most effecti® A large number of

agriculture are called ag -
(a) Marginal farmers
«© Agricultural (®)  Migrant labourers
{d)  Small farmers

75. Which of the following technique i€ ?
working in group task ?
(a) Rubrics

{c) Presentation

in rural India who
(b) Multiple Choice Question are landless, although their main livelihood source is

l‘” ]"urtf(‘]if‘

.--"J
Choose the correct option - « (4) (a) and (b)
(1) () and () @ ©@and@ e @

i & 3 - e fafs T

Choose the correct option
m ® and (c) only

O
(3 (0). (<) and (d) only @) () and (¢) only

1 < 9 (a) and (b) only
S a2 o A A U w ) T
BT 1 3o Tem gediE — . y **W%WMME\wm;ﬁtmﬁt:
(@) vt ® Ol
@) anh afrs g
(¢) difas v (d) ”i‘é“iiii“ () T wgR & B fear
w@ fawes = w9 F - i
4)  {a) T (b)
(1) (b)) @ @ O @™d ¢ M FREI;RE @) ¥ (), @) (o)
., A @) (), () () @) ¥ (a) 3 (b)
7. The National Medical Comumission’s Code of MediGDEthics states that every PhySiciEgy
far as possible, prescribe drugs which are called © i i %%@
B 79,  Which of the following may be used to democracy ?
(1) Global brands 2 Gefﬁ"‘am"d.'c_mﬁ (a) People are equal and free =X
(3)  Ancient remedies | (4) Ge“%{““‘i'cm% ) ) (b) People are wealthy and prosperomk>
;ﬂuﬁﬁmmﬁ‘ﬁﬁm mmﬂﬂT e fafare: %1, 9 7% 6 6, (c) People resolve conflicts in a than others
fvifa wen wfee < e £ O) (d) Government is more accountable and rational
(1) s @iz (2) AT gaEal Choose the correct option : ()
@) e FwEn (4) s T (1) (@), (b) and () @ i )
7. A Social Sciemce teacher asked studénts 1o ol il thelilizss. L. . BRGUE L e 7 =ui i Frefete 13 forra WA T < A # 2
a chart paper. All the students gave their consen ; r
class, 50 that it can be referred l%\ t]L:e st::im_ 1%?;]:;‘,?:?&“9 chart paper was pasie (a)  =m gEA R EreR gl O
the following topics ? : introductory activity for w -l
0 = s A

(1) Marginalisation (2) Democracy (3) gﬂ(ﬂs (4) Diversi
it faar % fofeen asdi ® v @ & fo B TS =
forh 4 1 7 53 0 1 e 2 |&mﬁm§'maww .
ol 5 T R e B e foen €,
form m Twm 2 b T F1 97 & Wrife wiarard @ o
(1) EfrETET (2) wowE

© mm&:«wwﬁmﬁ*w“
(d) T s A S ThET

T fameq = =9 H —_
1) (a), (0) ¥ () @ oom©
() (b) e (d) R sy

PIL U asia

(3) =m
P-11 FHRE BERENNE 54

(4) Tafawm
55



. iecol e ideas of L :
nts caretull¥ and choose th correct optioy gy, It " ey Equality ang Fraternity of the 1na; :
BO. :iuad the Assertion (A} and Reason (R) statemetis (1) French Revolution 5 e Indian Constitution are borrowed from
ollowing : - ajues can be taugh 1) Magna Carta Russian i
Sheidd . Values can be taught, too- i Ppasic values ght, { Revolution
;ea":;:"&;:‘;‘] ) ;(.\‘\f:;t--'hur{li‘l»s i::l.ll ‘suhjo\'t through “m:ld:nﬂl!ll-‘ 1 sl wHfavm § R, finien mm{‘% American Revolution
(1) Both (A) and (R) are corect but (R) does 1ot P2 (1) e A Prmfmma
(2)  (A) is true but (R) is false. () AR 2) =Hwfa <O
(3)  Both (A) and (R) are falsc. AL ) i =i
(4) Both (A) and (R) are correct and (R) };Ela;;i %ﬂ 57w faked A A teacher wants to divide 30 stug )
Ffirer (A) i FOT (R) F AT oo . will be the mtmhvmtmymmd"ﬂduqmsmllmfwauskmd'rvguity, Which
af (a): Seg@mrdaE ,ﬁ,qﬁamm—aﬁt (1) Benchwise from front to back small groups of studehis?
T (R) : mmwm%mﬂ“‘“mﬂ. . (2)  According to students marks i last exam from hi e
(n talmtnlﬁuﬁﬁﬁaﬁmﬁﬂlmmﬁm (5] "m‘ms‘“ﬂ“mndmmwmmaga;'e ""E"Z’
(2)  (A) T & fag (R) 37 € ® Ag 5‘"::‘“8 comfort =
() (A) 7@ (R) R > T 3 ¥ T s 0 2 5 20 Pt A 99 o 4 e T @ b
@) (A) 3ih (R) G wE E i (A) F(R) ST L frferfaa # W Fon %1 S-m afm w8 oo g 2
i he actual and correct sta () SAAMEE I AT
81. Which method would you use to collect informabon about the a stat ) frafl 3 foael v 'l
rthquake victims in v a? )
cotgale v YT © f T
3 em-solving method 1) Inquiry method _ (4) Terenfefai =t gfawrgam {o)
(3) Proble Iving (4) Inquiry e
mmmtwmaﬁwﬁaﬁmawmnﬁmmﬁﬂm ~
1w 2 3 5. Consider the following statements Assertion (A) and R @mmhmwuwmmo{s«ﬁal
T : e Science and choose the correct option. -
M fafy (@ S Assertion (A) : The social sciences have developed their owm-Kistinct methods for dealing with
(3) TEEm-wamE fafd (4) R, g faf facts in an objective and systematic way. ()
Reason (R) :  Unlike the natural sciences, in Social Science itisdifficult to insulate the observation

and analysis of facts from the p of

(1) Both (A) and (R) are true but (R) is not the correct exp tion of (A)

(2)  Only (A) is true

(3) Only (R) is true .
mxeard(ﬂ]isﬂiemnectuplammnnl(&

0B Qe o ﬁﬁnﬁfmmﬁm(nmwmmﬁWﬁMwuﬁ

82. Involving teachers is considered important in the development of social science as
framewaork to
{a) integrate contemporary events and prevailing changes.
(b) make curriculum and evaluation only subject-centered and to limit its scope.
(c) save time, labor and money by using teachers only as a resource.

(d) make necessary changes according to the level of teachers by usi e experi te E I IEED i

Choaose the correct upcrions:; e ‘2 'haF by using the experiences of o ﬁ::'m*m
(1) () and (d) only 2 f(a) ¢ = . i . :

®) (a)‘*““?"““ @) g]ml_\{b()i?‘wdml} SR (A) : m;ﬁam@mw_ﬁmﬂm*&mmﬁm
A A 3 e i 5 i e ) SR eyt et & i — Aty sl Tl
(a) WS S S e W 7w & ¥ E % (R) : g foe @ e (S, ﬁfﬁf:“ﬁ S a

(b) T ik e ) e g e 2 v e 3 2 o) s ek 3 R st i Fe R IR 0L I

(c) WMﬁﬁﬁw%mﬁMWmmmwﬁmm*ml (m mm(mgﬁfuﬁtm(ﬂhu}iﬂ (::1

() fo 35 STl 3 TR 5 5 e R S v oy ) 3 o @ FE@w =

w fawey & =9E F) 3 a,-qﬂ[m-gﬂtl ﬁmﬁﬂ'ﬂ“tl

() FoR) (@) (), ) s ) @) (&) s (R 2w ETm. W

(3) I (a) 3 (b) (@) ¥ () -

Pp |
P-1I [ENRNANANNE 56 LTI



86. The purpose of diagnostic evaluation is to :

(a) obtain information about learner’s characters
[-‘1551'55

()  get to know about the knowledge students already
(c)  classify learners into categories

(d) to assess the learners

Choose the correct option :
(1) (@) (©) and (d) @ |
(3) (a) and (b) @ (a) @ and ©

e e w1 W 3t

(a) forenfeiai & =il & = & g 9T w0

(b) Tl & 3w F

() Fenfefl 2 Afordt § itgn e

(d) Forenfe it s -~
et faweq w1 977 w10 3
(1) @) (c) 3R (d) 2 (d) 3t \
® (@M @ @0 ME

(d) and (c) .

87.  According to Indian Constitution this kind of reservation is not a violation of the right to

(1)  To ensure jobs to people from States where an elected representive or Minister comes.

(2) To ensure jobs based on nepotism.
(3) To give jobs to close kith and kin of political leaders,

(4)  To give special treatment to someone in order to ensuze equal opportunity.
WW?WWWWWM%Mmmﬂg:
(1) o Tt A Wit a0 st e o & 39 Tl 3 e At

(2) HE-vAIER % AR W IR grE s -

(3) TS & T wa w A 2 i

(4) T ST YRR F & e faret 3 w ity sgae s

P11 (BUENELEENND 58

wh,  Read the Assertion (A) and

(R) state
Assertion (A) : Students should be and choose the correct option.

Reason (R) : 1t will hetyy
students t0 open u
p.

(1) Both (A) and
; (mmnebultl.]i,mmkomlh] .
(2)  (A) is true byt (R) is false planation of (A).
) £

(3) Both (A) and (R) are fy1ee s
S mmm“mi"h"‘@%mﬂmﬁondw
mm(&l#ﬂw{mﬁmmmmgwm1 g
gl ol Wﬁmﬁmmtﬁ%ﬁHMMﬁml
FEMR): T o el et e e
(1) (A) 3(R) 2 8 S () 3 ) 0t s
(2)  (A) T ¥ A (R) T
(3)  (A) 3 (R) ¥ mere ¥ =
() (MaﬁTlR}ﬁ“ﬁidﬂmﬁmm%mh

N

89. Consider the statements (A) and (B) and dwo&w correct option
=

(A) The natural sciences are superior to socifciences and are the domain of bright students.
(B) Themhlsdemummﬁﬂhm&dﬂ,mlma]andmlyﬁcalskﬂhmqmdw

adjust to an increasingly independent world.
(1) Both (A) and (B) are false (2)  (A)is true but (B) is false
(3)  (A) is false but (B) is true (4) Both (A) and (B) are true

W(A)mm)mmmmuﬂm@:

(A) mﬁmmmahtmﬁmwﬂmm

(B) mmw.mwmmﬁﬂmmtmwtﬁw
mﬁﬁﬁﬁuﬂiﬁﬁtﬁ&mﬂﬁ

@ MyF () s R

(1) (A) 3iv (B) i s €
@ S)ﬂ‘(ﬁlﬁmi

(3) (A) s & fg (B) ¥ 8

59
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rrect optio™

90. Consider the followi handchoﬂsf'”'"-'m

PART . 1v
-1 : ENGLISH

i PORTANT : Candidat
b P EN(::I should attempt qu P :
ISH as LANGUAGE.1 S 'art-IV (Q. No. 91-120), if they hm(,‘,m\

as can reduce the rural g

PRRTST al are:
(A} : Investment in non-farm activities in rur

migration.

son when there are no ...';.__ d the passage given below
.l
',“ On 15 January 2009, uevm‘;':: ANSWET the questfons (91-99) that follow :
River, right in the middle of np. "% Hings haphined. A plane crash landed into the Hudson
But then, something elge hg ew York City. THe"pflot, crew and 155 passengers escaped safely.
immediately tweeted that he fﬁ:“-m“' Jim wasmearby and watched the event happen. He
spread quickly. People tontact'edf":: seen a pl. rash in the Hudson. From there the news
e bt iy ki T e
bec ; i it : pos e 3
news channels, Y became journalists. It'whe 15 minutes before the news broke on official

Photos, videos and tw ;

. words and images &u:eudﬁm&m ordinary people at the scene of dramatic events now provide the
in 2013, millions of people am?n?mb in the news. When a meteor exploded over a Russian city
and YouTube. Social media the world watched videos and photos of the event on Facebook
island of Haiti, The can alay save lives. In January 2010, an earthquake hit the Caribbean

details at i government said that there had been an earthquake, but they didn't give
many details at first. Meanwhile, people living in the disaster area were posting photos and eye
witness accounts on Twitter and Facebook and felling the world that it was an and

Statement (R) : Migration increase{ during particular sea
activities in rural areaf.
EN

(1) Both (A) and (R) are true but“%b’s not the correct explanation of (A)

R
O -
e true but (R 8 =

(3) Both (A) and (R) are false

(4) Both (Alﬂﬂdfﬂlmh'uemdm)ismemm:dexplmaﬁonofm)

w . c emergency
houses we:::;’“ﬂP‘m& A local radio presenter weed this information to help people find family
ﬁqﬁmm«ﬁmmma«wgﬁa; penaliéts, and peple even phoneid his program [k i their relatives ward £210.
3. News Mtraveis fast on social media, but false spread just as quickly as the truth. Some of
I~ these “facts” are erroneous, others are deliberate hgaxes. Hoaxes remind us that not everything
) people post and publish is reliable. But social media can change our lives for the better.
& (A) : T & R-F F fidw, Tmeiter 0 YA F FH FAEA & 3=
S 91. ‘Some of these facts are erroneous’. Theammvtn:hbr the underlined word in the given sentence
. L
151
Fu (R) : O fafere dam & R venaA F gfa gt & o it g F 9 gt nfefafil @@ (1) inaccurate (2) invalid (3) surprising”  (4) faultless

L]
92. Arrange the following events as mentioned in para 1 in the correct sequential order.
{a) Jim watched the crash and tweeted.
(b) People started contacting Jim for updated news.
{c) A plane crashed into the Hudson River.-

(1) (A) R (R) 3w & 3 (4) 1 (R) W e 7w b
(d) The news of the crash was broadcast 15 mifuides later.

(3) () 3R (R) 3 T &

d®)
1 — (a) = (d) g
B BHAE= 5 Bogset o
L B (©-@->0->@ N
N @ @-oB->@-@ 2
(&%)
P,

i méans :
93. Ordina le suddenly became journalists
(1) ttgyp:;?ded towards media hol:mlfm seel Bmployment
(2) they started contacting Jim to s,
(3) theylefttl'lﬂobﬁwheﬁﬂle)fw‘ P
(4) they started posting news-bits pictures social

61
P-IL i

) (A m(ujﬂ#uﬁim{A}é(Dn)uﬂmmtl
I [nmNnN 60



94.

95.

96.

97.

98,

99.

P-11

; ia lightly 7
Why should we not take news on ocial media HEHE
(1) Strangers can call you to seek information.
(2)  They can change our lives for the better.
(3) Mews posted are hoax and ‘-‘“‘f“gm&t--_.
(4) The facts are erroneous. -~
5
’ Je on
The meteor explosion in 2013 in Russia w) h.'alched by peop

(1) YouTube (2) At pocial media handles
(3) Facebook and YouTube  (4) Towitter
o

. jven below :
Identify Parts of Speech of the underlined words in the sentence g

‘But social media can change our lives for the better H
(1)  wverb, adjective (2) verh, adverb
(3) noun, adjective (4) neunj adverb
—
News on social media : %
(1} travel fast (2) are deliberate hoaxes
(3) are insignificant (4) are-seliable
-]

Read the following statements :

(a) A plane crashed on 15 January, 2009

(b) 155 passengers escaped, but the pilot lost his life.
(c) Jim, an onlooker, posted pictures omebook
(1) (c) is correct, but (a) and (b) are incorrect

(2) (a) is correct, but (b) and (c) are incoftact

©) (), (b) and (c) are all incorrect  1N\D

(4) (a) and (b) are correct, but (c) is incorrgct

L )
Complete the given word analogy :
dramatic : exciting : : hoax: 72 .
(1) deception (2) example 3 excuse ) fia posts

MmN 62

em giv
gead the poem given below and answer the questions {100-105) that follow

Greal, wide, beautiful, wonderfy) world
with the wonderful water round yoy n;ﬂed
Anul the wonderful grass UPON your hreast ’
World, you are beautifully drest. o
The wonderful air is ovef ma,
And the wonderful winddwshaking the tree,
It walks on the water, ar@hirls the mills,
And talks to itself on the(fops of the hills. ’
You friendly Earth! How far do Yo g
With the wheat—_{ields that nod and se-tivers that flow.
With cities and gardens, and cliffs, Al isles,
And people upon you for lhnusand.{g'tules ?
Ah, you are so great, and T am so small,
I tremble to think of you, World, at all;
And yet, when I said my prayers today,
A whisper inside me seemed to say,
“You are more than the Earth, though you are such a dot,
You can love and think, and the Earth cannot!’

100. In this poem, the poet describes the =—
(1) the plants that grow on the Eh)
(2) beauty and vasiness of Earth )
(3) life in the cities
(4) the Earth, its present and paste—

P~
. In the line, ‘with the wonderful watefround you curled , the wi
b © (2) mounted (3)  turbulent (4) arched

(1) surrounded

102, List the 3 different things (in stanza 3) found on Earth that make it Igreat.
(1) isles, oceans, people (2) wheatfields, trees, whisper
3) ciﬁe;, grass, mills (4) rivers, gardens, cliffs

103. What does the underlined word mﬁg?

‘1t walks on the water, w o ‘
ﬂ_) h grass @ wind (N (3) Earth (4) river

<
in li ine 4.

104, Identify the figures of speech in W;]m,mmﬁm R

(1) alliteration, metaphor T\J,.“

(3) simile, alliteration [@))

anaphora, personification

105, The wind in the poem talks m].;uds @ hills (@) itself
C.

(1) trees @

LR T T
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N which skill of language is knoy
(1) Speaking and W, 2 Teceptive skills ?
(3 Listening and Reading 2 Reading and Writing
¥ @) Listening and Speaking

In a language class, students f
. Broups under the guidance of a teacher and present an

advertisement on a given topie,
1) C;oiir\petilim and rivalry "‘“(‘82; h‘[;uase in this way is called _
(3 Guidance and counseling 4) CDI]E‘:-:-: games

tive learning

106. The time and place of the story are called the ———= (& Theme i
. I&l] Climax

(1) Setting 2} Plot

ars to understand :
dominan

107. Multlingualism in India intends teach A i ld“[‘u“"““ﬁ 113
(1)  minority languages should be clubbed with v
2} ‘alanguage’ policy should be framed in .:e‘.iivers*.-‘ Lo
(3)  language, identity and culture are _wp!lfult‘ entities 5
~%iom is maintained i
14. A teacher gives a task to familiari :
18- nong the following should be opy “‘:l:xn with the vocabulary used in restaurants. What
(1) To familiarise with the grammatica] lessom ?
(2) To introduce the text about a hol; “d“"’. -
(3)  To develop critical thinking tion
(4) To acquaint the learner with the lexical it

(4) communication happens, and social cnh—
108. Schools should follow additive hilmgualismuse it:
(1) gives importance to teaching English E@serond language
(2) promates the child’s language but not.the culture
(3)  hinders the development of the first language
{(4) values the culture and language of the child

115. Linguistic function such as intonation, tone, stress, and rhythm are known as :

. Prosod: E
109, Match the language teaching methods in Column - A with their understanding or related 2 (1 y (2)  Phonetics (3) Pragmatics  (4) Poetry
in Column - B : )
Column - A Column - B 116. Theu:l\fa:;b:fmand on teachers, | and AR |
ect
(a) G icative [ Teaching (4}  Socially acceptable and  contextu; (1} R:irlfcrl:ement (2) Classroom effect
T appropriate language @) (4) Corpus effect

117. A language mrmmﬁyoﬁecumchmmspapm.mmumdsmduﬁnﬂckmsm
teach the students of class V. What is she doing to make learning happen ?

(1) She is trying to help her students to leam multiple lang

Silent reading

(h)  Direct method ]!
—:fﬂi) Written literary texts

(c) Grammar Translation

(d) West's New Method ) Grammar is taught inductively
) o (2) She wants her students to learm English through real life like situations.
(1) (a)-{iv), ()-(ii), (c)-(iid), (d)-(i) S (3) She is creating awareness in the students.
(4) She is using authentic materials to make her teaching more realistic and useful.

(2)  (@)-ii), (BI-(i), (c(ii), (d)-(iv) (o=,
() (@), (b)), ()-iv), (d)-(ii)
@) (@), (b)), (o)-(ii), ()-(ii)

118. Which of the following is NOT an important factor in planning a listening lesson ?
(1) Speed of delivery. 2 Gmd_er of speakers\.
(3) Number of speakers. (4) Pausing the recording.

119. i mﬂmbamdmdmmmmaspm,pmpemsenm.ws
il:\slf:f::t? :f::li :)ther students are asked to watch them and enjoy their conversation. This

?f;ﬂ‘“gr:‘“i:ned ® Acting class  (3) Guidance (4) Roleplay

110. Which of the following statements is NOT true about languages in India ?
(1) According to the list of Eighth schedulgrof the Constitution of India, there are 22 lang
(2)  Sanskrit is a Modern Indian Language._ | r ¥
(3)  Hindi is the lingua franca of the Indian-8ub-continent
(4)  According to the Indian Constih.n‘.ion,-ﬁg]' i -
ish is an Associate Official Lan
N i

120. Listening involves :
(1)  guessing the content T
(2)  using prior knowledge sul ‘ ‘
(3)  recognising sounds and deducing the m;mﬂu‘iyfr::u it
(4)  hearing the sound, decoding the sounds
65

111, Which schoel of learning believed that Ia.nglg
the process of habit formation ?  whether verbal or non-verbal, takes place

1)  Behaviouri
((1: lt a.v:a‘urlsll (2) Q;gniﬁw’sl
k nteractionalist (4)  Functionalist

L TR 64




a- IV
a1
el & A

g ; e -1y (WA, 9% 120
fedt g

i wd
Fder ﬁmmwmaﬂwm@mwﬁaan-?g;w

T ke o = i oA = g ﬂmﬁ:”luﬁil AR

fesjaern 2 e st 23 e el A1 fo 0 et i
maﬁmmﬁmtgﬁmmﬁmﬂ?mﬁ Rl
A1 T e 3w e o e 3w
T e dvs T ¥, Forh v @ o

T F) d w F 2 T we ) At

ST A forvaT 1 e T F e w6 ¢

w«&mﬂaﬁm
i e wees w1 #

91.

93.

94,

95

96,

97.

P-11

. fecranl 3w %1 e el %1 oeam w0 1 v fFm 82

‘et @ A
(1) T\ wEhE )
() 37 T A

@ e foin 7 W =T HA A
) Sem P A

(1) wARSMAMEET () T T

(3) forem gon waw (4 fowrm 1 i s w

T F1 M FH oW F i)

(1) = fawm () fomn (3) wfem (4 famm
fom e & wfeerenl = e w o w6 wh 0

(1) & Fu= = T w0 ) (2) = R A T

(3) T = e (4) T R e E
F-W Hilee Frererd! wifees = o &2

(1) 0w W gy

(2) ﬁmmaﬁwﬁl

(3) = famm fagri =t fia =1 (@) < e W W

oA v oo

(1) fava @ wafim fm 2 i

(3) fafy=m uron :4; mﬁﬁ“w
'mzﬁmmﬂM'wﬁmmmmg.

& L oo m @) s
M 66

9. m:ﬁ;“x;mm“mmv
* mrfe fawz =) Q) ™ fogri % =@
N @) @ % s o =
9. 'h’f@m'ﬂm! —
m 9 2 n . ot

ﬁﬁmmmﬁm‘gwﬁ“m |
femwrEEA W, ‘mﬁjmmm,@mﬁw_

e A TR R N
a2 T Gl - o))
-t

faferie § ST W o,
W‘T"I{tﬁiﬂ‘km_

o 0 TR T & 5 - feremm

Foa & W A T &

o £ I IR F-FR A
AT T T T T A

100, 'wEETE T fRes foe v g §2

(1) =M @@ W= @ W

142310
|

101, vt # fm @ fem g b2

1) FEEw (2 ¥R I‘g} v = (@ R
102, wain & fg sweR & wEm s et b2
(1) = 2 =%

103, *fearmmrer’ &1 9i frede b
(1) feawamar (o) FewmaH

(3) T (4) sfrfE

() femmeammm  (4) feamesmEE

104, FFEE f M AW A T 42 O
(1y @m @@ = Iy A (4

105, Hon gzt fre T s omma @ (N
(1) E:ﬁﬂiﬁﬁﬁtmﬁ @ @ﬁ;ﬁmgsﬁm%
(3) o efer @ W A (o) <

[~
106, i st st o o A e i)
(1) & @ TR 0

P-11 | 67
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107. wﬁmtmﬂm*m?
1) mwﬁﬂvg&mﬁﬂ:‘
(2) faferera s o & g W g C
@) m,mmmaﬁﬁ-ﬁ“*““ e
() v & e Fega i o & ) ;

ol

108. mammwmm“‘f‘:ﬁ ik

40} stireht fararn ) fdby s 3 w0 e 4 € e

(2 ﬁﬁwﬁmwmtwﬂ“ﬁ 3

(@) o v & fara  av e O ~

@) W g oy ) e 2 E Q) i “
109. maﬁmmmgmmnﬂwﬂm":" ! ’ !

e A : S
(a) WO o () e ¥ d L s
®) v fafy (i)

(i) fofm fefers A

(c) =T AR

() = (West's) #1781 farfs (iv) A T SR A R

(1) (a)(iv), (b)), (c)-(i), (d)-(i) (-

(2)  (a)(iid), (b)=(i). (c)-(ii). (d)-{iv) —

(3)  (a)-(ii), (B)-(i), (c)-(iv), (d)-(iii) A~ .

(4)  (a)-{i), (b)-{iv), (c)-(iii), (d)-{ii) ;\ 1 i
110, wia & sl ¥ A § SA-m w7 ,_1 5

() & wfaum # st s % sgEn-22 wmd E

(2) Wepa smyfa et v & N
(3) firet s =9 ety % v s (fefn W) o))
(4) A & wiaYE & AR i 7 v e

111, siftrmm 1 FF-7 T 79 70 § favarm v # s dfes @ seifeas ym mﬂﬁﬂfﬂ‘iﬁﬂf‘ﬁ‘ﬂﬂ

| o &7 5

(1) = (fadfaafe) (@) waTEEa k. ]

(3) s fwammand (4) SRR () g iy
112. 1 & #1 | Five e e £

(1) e i deA @ mma&;\

(3) =Ew 3R A ()

we WﬁWﬁmw*ﬁa‘”ﬂWmﬁQmﬂﬁ;wwmmﬂmh ﬂ‘r
ﬂ.

| v Hra a7 FEerm 7

(1) whwfien s wfagfem @ W s
(3) frdwm st vl
4) s e
P-1 EUNEEHERNI 6 ) o

4. T VTR A A A et g :
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Q. No. 121-150), if %

tions from Part-V (
11 only-

IMPORTANT : Candidates should attempt JUes GAGE:
have opted for ENGLISH as LANG

at follow :

ot their desire for chocolate: They are simply g
sweet-tooth gene” has been identifiag

(N -128) th
Read the passage given below and answer the questions az
1. Chocoholics no longer need to feel guilty

victim of the genes, scientists have found. THeso called * e e to resist chocudil
separate teams of researchers and helps e“ﬂla?‘ wh_\-.5mI1'lE mdru which could “switch off*
and cream cakes. It also raises the possibility of designing 2 % ;

; ; isk their health by eg
gene and help people resist sugary foods. Children, m Parﬁcu]ar- £ by

many sweets and chocolates. ]
research teams conducted almost identical experiments u?mﬂg mice
of the team members said “A sweet i

receptor recognises the sweet content of food.and initiates a cascade of events Iwhlfh signals to the
brain that a sweet food has been eaten.” He 'I‘_ﬂ!'I_Iher added, “The same gene exists in humans, so
means that if your parents have a sweet toc!ﬂ}&?!en you probably will as well”.

3. He said, “We have always known that snn'l??}?‘lph' have a sweeter tooth than others. But it has.
also been proved that if you are gradually exposed to less sugar, then the body becomes accustomed
to less. They will be satisfied with a ]owcrj@.im,l of sweetness. Doctors warn against any form of
gene therapy which seeks to deactivate Lh?\s_&'n‘t gene. “We have produced this gene through
evolution because sweet foods in nature arg-gat poisonous, they give us encrgy. We all need to
have some sugar in our diet,” claim scientists. US researchers are using this discovery to develop

& To identify the gene,
have differences in their ability to taste sweet foods. One

artificial sweeteners without any after-taste.

121. The phrase ’. . . . initiates a cascade of events’, means :
(1) to halt and hinder sequential events
(2) signals given to the brain
(3)
)

to start a series of occurrences

to put a stop to orderly events
P P }

142310

122. Having a sweet tooth means :
(1) being tond of sweets and chocolates [\_‘

9

(2} teeth being sweet to taste
{3)  teeth becoming decayed due to sugary food items
(4)  buving sweet food items from shops (et

P-11 R BERENNT 70 i

. 'Chocoholics” are people .

(1) who enjoy both chocolates and
(2) who are fond of chocolates alcohg)
(3) who are makers of chocolates

(4) who hate chocolates

124. Complete the given word analogy

accustomed : habitual ; sinitiate; 5

(1) complicate () start off (3)  hinder 4)  hait

125. Read the statements given belgw -

(a) Doctors have favoured gene therapy to control sweet gene.
(b) A sweet taste receptor Tecognizes the amount of sweetness in food,
(c)  Heredity factors have absolutely no role to play in inheriting the sweet gene.
(1) (a) and (b) are incorrect, (c) is correct
(2)  (b) and (c) are incorrect, (a) is correct
(3)  (a), (b) and (c) are all incorrect

(4) (a) and (c) are incorrect, (b} is correct

126. Identify parts of speech of the underlined words in the given sentence :
‘Doctors warn 3gainst any form of gene therapy which seeks to deactivate the sweet gene'.

@
{4) preposition, adjective

preposition, noun

(1) adverb, adjective

(3) conjunction, noun

127. According to doctors, sweet foods are :
(1) energy boosters (2) poisonous
(3) deactivated genes (4) dangerous

128. Doctors are not in favour of gene therapy because :

(1) Itis poisonous. ,
(2)  People willfeel guilt ater g8 B8
3 ]twmwmgumw\m?'
(4)  Sweet foods give energy 1o the PO .

gl [T T T



hat follow :
. 129-135) | ) ) )
answer the quenlfﬂ“-‘ (] " o with waving Ilnbeian children, 3
h a village " ot showing any’ signs of slo

Read the passage given below and b
1. Every now and then we would speed throug g ¢ d
illag inviting that Dorfe was o7 rtvards jostled topgether §
villages looked wondertul and so inviting weith walk ml:,:,k(.(i i, et fog

Small clusters of single and double storey buildings ¥ houses "
foothills to gain maximum;expﬂsrl';m to the sun. The l,m.j finished L:::l:;:r}ur?l“h? bricks

environment. Walls are made uj stone ] olds oom liv
mo?.nTin cans lined the \\'mdm}l‘edges, with the bright oran

.+ into the wind from the of

2. Branches of trees adomed with colourful prayer flags ""‘"‘j‘ ]:'f:u'; of the fabrics stood o::p
flat roofs. The auspicious blue, white, red, green and yellow ©

the rich blue of the Tibetan sky. Each prayer - me the flag flaps in the wind,

g i ¥ divine every fme :

Bujs, wh chrsies Ohe pnss preyn 39 D il s or poplars which look quite out of plag

the generally treeless landscape. Wood is a prf*:iit:::lsd'e s are harvested for use as brus

mountains to get a fire

to waist heigill 7e ot ma"iﬂ
up the black-and-white of the houses.
flag carries @ picture of Lungta, the j
3. The larger villages have healthy trees, usually “’mo‘gnmodih' in the highland areas of Tik
is never wasted. The few shrubs which grow wil frecn e

and each courtyard wall is piled high with sticks gal %
The lack of solid fuel in the shape of wood is not a problem for the Tibetans, who havean
wood substitute : vak dung.

129. Identify the underlined words in the given sentence :
The lack of solid fuel in the shape dwmdiswtapmblemforﬂm'l‘ibetans‘

(1) adjective, noun (2) mnoun, noun
(3) verb, noun (4) noun, adjective
130. Yak dung is used by the Tibetans as a substitute for :
(1) marigolds (2) fire (3) wood {4) buildings
131. What aspect of Tibetan houses as described in the passage is incorrect ?

(1)  Tin cans line the window ledges.

(2) Roofs are made of mud bricks.

(3) They are solidly built.

(4) Walls are made of mortar and cement.

132. Why do the willows and poplars look absurd in the landscape ?

(1)  They have minimum branches and leaves.

(2)  Because the landscape is generally treeless.

(3)  The other trees camouflage them.

(4) They are stunted shrubs.

133. Complete the given word analogy :
precious : valuable : : ingenious: _?
(1) inventive (2) genuine
3 ;
(3)  practical (4) theoretical
P-IT [RHENNENON 72

pead the following twe Statemnen;
; ts

Assertion (A) © Wood and -

asoming (R) : Wood is fouey " Piled high agai i
Re F is found in abund #ainst the courtyard walls in the houses
mn (A) 'ﬁmn"dm"“mu,,n, memﬁbﬂ
() (A)and (R) are both incorrecy " ™
(3) (A) is correct and (R) is the 1 y
(4) (A) is incorrect, but (R) is correcy for it

134

5. The phrase ‘courtyards jostling P
13 (1) being in different sizes m‘g’““" implies :
(2) being one on top of the other hony

(3) being in close proximity

(4) being very far apart
t d ghou )
136. :if;za:glng?m t the teaching-learning process to clarify student learning and
(1)  Assessment of learning @ € T
. ool 4
(3) Assessment as learning (4) Assessment for learning
137. Using everyday objects to teach L guage is called
(1) Language games (2) Teaching aid
(3) Text (4) Realia
138. Which is a tool that allows for a number of synchronous and asynchronous online teaching
opportunities ?
(1) Railway tcket (2) Television (3) Padlet (4) Textbook
139. When is International Mother Language Day celebrated ?
(1) 14th February (2) 21%February (3) 13*% April (4) 1% January
140. In a second language class, a teacher plaved audic on ‘Health is wealth’. He then dlsl:nbul.ed
handouts and nakeds;te students to tick the correct answer from the given option. The objective of
the lesson was to enable the learner :

(1) to engage the learners with a task

(2)  to listen, to analyse the ideas
(3) to memofiseu\elessmmhea}dlmﬂwﬂlﬂ\
{4) to hear the lesson on health

141, Identify the type of email you would write if you were writing to a colleague who is your friend.

(1)  Formal (2) Bust
(3) Correspondence () Informal
142, Which tool is not ideal for formative mﬁ;m}:‘r:im
(1)  Paper pencil test @) Assignment
(3)  Class presentaﬁoﬂ
73
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< are evidenc® that learning is taking h

, efror
143. Learners should be exposed to language. and (4) Behaviourists

advocated by ¢ . hmm[)'sl
- 3) Psye S S—
(1) Cognitivist {2)  Humarst &) 3 q‘a'l{lﬁ : M-V (. m=
144. Wh h hich has animals as mema'mCl““"m"s""“dI - =t e m)tnﬂ:mmﬂ‘“immm-llmm
. What is a short story which has |, ===
called 7 : N— (4) Fantasy e
(1) Fable (2) Science Fiction (3) TrveloE™ il ﬁ?m"imﬁ““‘“ . 121-128) 3 Wk v ok Feren w1 PN ¢
: S b1 35 SR o e e 13 8 0 €A € 4 =

145. What is NOT true about top-down processing ? ; 5w & A e o g . . .
(1) Listeners make guesses about the intended meaning N by T T e o el ) e o
(2) Listeners make use of the knowledge of the world

Listeners need to understand every word

(3 z
(4)  Listeners rely on their background knowledge W@ﬁawwh Mtwﬁﬂmwmmmmmam‘w St A o e
A
146. Creativity in language education is 5
(1) merging elements from different subjects t© u.nden!land something. 121, feiarht % e wE T W T F 7
(2) classroom activity using new methods of teaching,. . o o qa L E!'ﬂh @ .
(3) classroom material using communicative language teaching. vy Forrd i i R (“)"

(4) open-ended classroom tasks which allow for different interpretations and answers,

122, ‘frra @ ad &

(T (2) T |(\)§) s () ™

123, i o e =@ wnil A afm —
(1) - A A WCEm) (2) S F1 e A T A A
(v e o oftem T A e () v i s # S aE Em

147, India’s language in education policy (Three Language Formula) attempts to promote ©
(1) Monolingual education
(2) Bilingual education with the focus on Hindi
(3} Mother-tongue based multilingualism
(4)  Multi language education

148, Which of the following statements are correct ?
fa)  Dyslexia is a reading disorder.
(b)  Dysgraphia is a writing disorder.
(€}  Dvsgraphia is a reading disorder.
(d})  Dyslexia is a writing disorder,

124, ffA A AR . _
(1) W@ #en () =T (3) Hom A (4) A

125, TR T %) WA aee e w2

(I} Only (b) and (d) are correct 2} Both (a) and (b) are correct = T
(3)  Both (c) and (d) are correct (4)  Only (a) is correct (1) A Frevem lzltq‘mﬂ.ﬁ :m:.t
v A W TEE A F@ R (4) D S " L

149. What 1s NOT true about errors in language leaming ? ) R | _—

(1) Errors are not always bad and help in learning, o it <y " & s ferdran e

(2} Errors are crucial aspects of the language learning process. 126, ‘e’ d breal ' o= I\B\J o (4) AfEm

(3) Errors help to understand the process of second language acquisits eI @ (&%)

(4)  Errors hinder the language learning process. 127, fewmn e & T T tmEa ¥ -

. =ifa < =T 14) ¥

150. Ruta, a government school teacher, uses visual devi 1y #mwR @ - D

class VI students. Which principle of teaching ise]‘hmm_i:;w games to teach g : ©

|i| fnnn_:pl-- of practice and habit formation : 125, '—m_mﬁmm'ﬂw'ﬂ o & ¢ % ﬁqﬂf‘ﬂ'ﬁ“ﬂ"“'

(2} Prnaiple of motivation and interest ; L . - A T 2 % o A

(1) Principle of correlating with life ) e 2 o (4 s o] % I

(4 Prnaple of natural process () waw e T

75
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